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1. Library technique of research involves  
 (A) Statistical analysis, scanning and 

scouting 
 (B) Statistical analysis, gleaning and 

scanning 
 (C) Gleaning, scouting and statistical 

analysis 
 (D) Scanning, scouting and gleaning 
 

2. From the following, identify the one, 
which is not included in the structures 
of Basic Sports Management : 

 (A) Tournaments (B) Leagues 
 (C) Teams (D) Clubs 
 

3. If height and weight of a person are 
160 cm and 64 kg respectively, his 
ponderal index will be 

 (A) 35.5 (B) 45.5 
 (C) 50 (D) 40 
 

4. Variable that usually consists of 
whole number unit is  

 (A) Independent variable 
 (B) Discrete variable 
 (C) Dependent variable 
 (D) Continuous variable 
 

5. Acquisition of Motor skill mainly 
depends on  

 (A) Coordinative ability 
 (B) Flexibility 
 (C) Speed 
 (D) Endurance 
 

6. Constipation occurs due to 
 (A) Less functioning of large intestine 
 (B) Less intake of water 
 (C) More intake of water 
 (D) Extra eating 
 

7. In 1953, the person who presented 
the first project for organized sports 
coaching in India is  

 (A) Jawaharlal Nehru 
 (B) Rajkumari Amrit Kaur 
 (C) Dr. P.M. Joseph 
 (D) Sir Dorabji Tata 

 
 
 
 
 
8. Various approaches were used to 

select leaders in sport based on 
industry and military. Sport specific 
model was first developed by 
Chelladurai which is 

 (A) Trait approach 
 (B) Interactional approach 
 (C) Behavioural approach 
 (D) Multidimensional approach 
 

9. In high altitude one can jump higher 
because  

 (A) Air resistance is less and 
muscle strength is more. 

 (B) Muscle strength is more and 
body mass is less. 

 (C) Air resistance is less and body 
weight is less.  

 (D) Body mass is less and air 
resistance is less. 

 

10. ‘X’ and ‘Y’ are pulling each other in 
a tug of war. Inspite of best effort Y 
is dragged by X. Work done by Y is  

 (A) Positive work 
 (B) Negative work 
 (C) Zero work 
 (D) Work due to gravity 
 

11. From the following, identify the one, 
which is not included in the steps of 
the classic model of decision making. 

 (A) Idea generation 
 (B) Problem creation 
 (C) Agenda setting 
 (D) Policy making 
 

12. Which one of the following is 

correctly matched ? 
(A) Determining 

how well ? 
– Selection 

(B) Determining 
how much ? 

– Measurement 

(C) Determining 
how good ? 

– Evaluation 

(D) Deciding 
selection or 
rejection 

– Test 

PHYSICAL EDUCATION 

Paper – III 
 

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. 

All questions are compulsory. 
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1. ÃÖÓ¿ÖÖê¬Ö®Ö Ûúß ¯ÖãÃŸÖÛúÖ»ÖµÖ ŸÖÛú®ÖßÛúß ´Öë †ÖŸÖÖ Æîü : 
 (A) ÃÖÓÜµÖÖ¿ÖÖÃ¡ÖßµÖ ×¾Ö¿»ÖêÂÖÞÖ, †¾Ö»ÖÖêÛú®Ö 

Ûú¸ü®ÖÖ †Öî¸ü ÜÖÖê•Ö®ÖÖ … 
 (B) ÃÖÓÜµÖÖ¿ÖÖÃ¡ÖßµÖ †¾Ö»ÖÖêÛú®Ö, ÃÖÓÝÖÏÆü Ûú¸ü®ÖÖ 

†Öî¸ü †¾Ö»ÖÖêÛú®Ö Ûú¸ü®ÖÖ … 
 (C) ÃÖÓÝÖÏÆü Ûú¸ü®ÖÖ, ÜÖÖê•Ö®ÖÖ †Öî̧ ü ÃÖÓÜµÖÖ¿ÖÖÃ¡ÖßµÖ 

†¾Ö»ÖÖêÛú®Ö … 
 (D) †¾Ö»ÖÖêÛú®Ö Ûú¸ü®ÖÖ, ÜÖÖê•Ö®ÖÖ †Öî¸ü ÃÖÓÝÖÏÆü 

Ûú¸ü®ÖÖ … 
 

2. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ˆÃÖÛúß ¯ÖÆü“ÖÖ®Ö Ûú ȩ̈ü •ÖÖê ×Ûú 
´Öæ»Ö³ÖæŸÖ ÜÖê»Ö ¯ÖÏ²Ö®¬Ö®Ö Ûêú œüÖÑ“Öê ´Öë ÃÖ×´´Ö×»ÖŸÖ ®ÖÆüà Æîü : 

 (A) ™æü®ÖÖÔ´Öê®™ü (B) »ÖßÝÖ 
 (C) ™üß´Öë (D) Œ»Ö²Ö 
 

3. µÖ×¤ü ‹Ûú ¾µÖ×ŒŸÖ Ûúß ‰Ñú“ÖÖ‡Ô †Öî¸ü ˆÃÖÛúÖ ¾Ö•Ö®Ö 
ÛÎú´Ö¿Ö: 160 ÃÖê´Öß †Öî¸ü 64 ×Ûú»ÖÖêÝÖÏÖ´Ö ÆüÖê, ŸÖ²Ö 
ˆÃÖÛúÖ ¯ÖÖê®›ü¸ü»Ö ‡®›êüŒÃÖ ÆüÖêÝÖÖ : 

 (A) 35.5 (B) 45.5 

 (C) 50 (D) 40 
 

4. ×•ÖÃÖ´Öë ÃÖÓ¯ÖæÞÖÔ ÃÖÓÜµÖÖ †ÖŸÖß ÆüÖê ˆÃÖ “Ö»Ö ÛúÖê 
ÛúÆüŸÖê Æïü : 

 (A) Ã¾ÖŸÖÓ¡Ö “Ö»Ö (B) ¯Öé£ÖÛú “Ö»Ö 
 (C) †Ö¬ÖÖ×¸üŸÖ “Ö»Ö (D) ×®Ö¸ü®ŸÖ¸ü “Ö»Ö 
 

5. ÝÖ×ŸÖÛú ÛúÖî¿Ö»Ö ¯ÖÏÖ¯ŸÖ Ûú¸ü®ÖÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê 
×ÛúÃÖ ¯Ö¸ü †Ö¬ÖÖ×¸üŸÖ Æîü ? 

 (A) ÃÖ´Ö®¾ÖµÖÛúÖ¸üß µÖÖêÝµÖŸÖÖ 
 (B) »ÖÖê“Ö 
 (C) ÝÖ×ŸÖ 
 (D) ÃÖÆü®Ö¿Ö×ŒŸÖ 
 

6. Ûú²•Ö Ûêú ÆüÖê®Öê ÛúÖ ÛúÖ¸üÞÖ : 
 (A) ²Ö›Ìüß †ÖÑŸÖ ÛúÖ Ûú´Ö ÛúÖµÖÔ ÆüÖê®ÖÖ 
 (B) Ûú´Ö ¯ÖÖ®Öß ÛúÖ ÃÖê¾Ö®Ö 
 (C) †×¬ÖÛú ¯ÖÖ®Öß ÛúÖ ÃÖê¾Ö®Ö 
 (D) •µÖÖ¤üÖ ³ÖÖê•Ö®Ö Ûú¸ü®ÖÖ 
 

7. 1953 ´Öë ³ÖÖ¸üŸÖ ´Öë ÃÖ²ÖÃÖê ¯ÖÆü»Öê ¾µÖ¾Ö×Ã£ÖŸÖ ÜÖê»Ö 
ÛúÖêØ“ÖÝÖ ÛúÖ ¯ÖÏÖê•ÖêŒ™ü ×ÛúÃÖ®Öê ¯ÖÏÃŸÖãŸÖ ×ÛúµÖÖ £ÖÖ ? 

 (A) •Ö¾ÖÖÆü¸ü»ÖÖ»Ö ®ÖêÆüºþ 
 (B) ¸üÖ•ÖÛãú´ÖÖ¸üß †´ÖéŸÖ ÛúÖî̧ ü 
 (C) ›üÖò. ¯Öß.‹´Ö. •ÖÖêÃÖê±ú 
 (D) ÃÖ¸ü ¤üÖê¸ü²Ö•Öß ™üÖ™üÖ 

 

 

 

 

 

8. ÜÖê»Ö ´Öë †ÝÖÏÞÖß ¾µÖ×ŒŸÖµÖÖë Ûêú “ÖµÖ®Ö Ûêú ×»Ö‹ 
ˆªÖêÝÖ ŸÖ£ÖÖ ÃÖê®ÖÖ ¯Ö¸ü †Ö¬ÖÖ×¸üŸÖ Ûú‡Ô ˆ¯ÖÖÝÖ´ÖÖë ÛúÖ 
ˆ¯ÖµÖÖêÝÖ ×ÛúµÖÖ ÝÖµÖÖ … ÜÖê»Ö-×¾Ö×¿ÖÂ™ü ´ÖÖò›ü»Ö ÛúÖê 
ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö “Öê»»ÖÖ¤ãü î̧ü «üÖ¸üÖ ×¾ÖÛú×ÃÖŸÖ ×ÛúµÖÖ ÝÖµÖÖ … 
¾ÖÆü ´ÖÖò›ü»Ö ÛúÖî®Ö ÃÖÖ ´ÖÖò›ü»Ö Æîü ? 

 (A) ™Òêü™ü †¯ÖÏÖê“Ö 
 (B) ‡Ó™ü¸ü‹êŒ¿Ö®Ö»Ö †¯ÖÏÖê“Ö 
 (C) ×²ÖÆêü×¾ÖµÖ¸ü»Ö †¯ÖÏÖê“Ö 
 (D) ´Ö»™üß›üÖµÖ´Öë¿Ö®Ö»Ö †¯ÖÏÖê“Ö 
 

9. †×¬ÖÛú ‰Ñú“ÖÖ‡Ô ¯Ö¸ü ¾µÖ×ŒŸÖ ‰Ñú“ÖÖ Ûæú¤ü ÃÖÛúŸÖÖ Æîü 
ŒµÖÖë×Ûú 

 (A) ¾ÖÖµÖã ¯ÖÏ×ŸÖ¸üÖê¬Ö Ûú´Ö ÆüÖêŸÖÖ Æîü ŸÖ£ÖÖ 
´ÖÖÓÃÖ¯Öê¿ÖßµÖ ¿Ö×ŒŸÖ †×¬ÖÛú ÆüÖêŸÖß Æîü … 

 (B) ´ÖÖÓÃÖ¯Öê¿ÖßµÖ ¿Ö×ŒŸÖ †×¬ÖÛú ÆüÖêŸÖß Æîü ŸÖ£ÖÖ 
¿Ö¸üß¸ü ÛúÖ ¦ü¾µÖ´ÖÖ®Ö Ûú´Ö ÆüÖêŸÖÖ Æîü … 

 (C) ¾ÖÖµÖã ¯ÖÏ×ŸÖ¸üÖê¬Ö Ûú´Ö ÆüÖêŸÖÖ Æîü ŸÖ£ÖÖ ¿Ö¸üß¸ü ÛúÖ 
¾Ö•Ö®Ö Ûú´Ö ÆüÖêŸÖÖ Æîü … 

 (D) ¿Ö¸üß¸ü ÛúÖ ¦ü¾µÖ´ÖÖ®Ö Ûú´Ö ÆüÖêŸÖÖ Æîü ŸÖ£ÖÖ 
¾ÖÖµÖã ¯ÖÏ×ŸÖ¸üÖê¬Ö Ûú´Ö ÆüÖêŸÖÖ Æîü … 

 

10. ¸üÃÃÖÖ-ÛúÃÖß ´Öë X ŸÖ£ÖÖ Y ‹Ûú ¤æüÃÖ¸êü ÛúÖê ÜÖà“Ö ¸üÆêü 
Æïü … ¯Öæ¸üß ¿Ö×ŒŸÖ »ÖÝÖÖ ¤êü®Öê Ûêú ²ÖÖ¾Ö•Öæ¤ü ³Öß Y ÛúÖê 
X «üÖ¸üÖ ÜÖà“Ö ×»ÖµÖÖ •ÖÖŸÖÖ Æîü … Y «üÖ¸üÖ ×ÛúµÖÖ 
ÝÖµÖÖ ÛúÖµÖÔ Æîü : 

 (A) ¬Ö®ÖÖŸ´ÖÛú ÛúÖµÖÔ 
 (B) ŠúÞÖÖŸ´ÖÛú ÛúÖµÖÔ 
 (C) ¿Öæ®µÖ ÛúÖµÖÔ 
 (D) ÝÖã¹ýŸ¾ÖÖÛúÂÖÔÞÖ Ûêú ÛúÖ¸üÞÖ ÛúÖµÖÔ 
 

11. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ˆÃÖê ¯ÖÆü“ÖÖ®Öë •ÖÖê ×Ûú ×®ÖÞÖÔµÖ®Ö Ûêú 
Œ»ÖÖ×ÃÖÛú ´ÖÖò›ü»Ö Ûêú “Ö ü̧ÞÖÖë ´Öë ÃÖ×´´Ö×»ÖŸÖ ®ÖÆüà Æîü : 

 (A) ×¾Ö“ÖÖ¸ü ˆŸ¯Ö×¢Ö 
 (B) ÃÖ´ÖÃµÖÖ ˆŸ¯Ö×¢Ö 
 (C) ÛúÖµÖÖÔ¾Ö»Öß ×®Ö¬ÖÖÔ¸üÞÖ 
 (D) µÖÖê•Ö®ÖÖ ²Ö®ÖÖ®ÖÖ 
 

12. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖß ÃÖÆüß •ÖÖê›Ìüß Æîü ? 
(A) ×ÛúŸÖ®Öê ³Ö»Öß³ÖÖÑ×ŸÖ 

×®Ö¬ÖÖÔ×¸üŸÖ Æîü ? 
– “ÖµÖ®Ö 

(B) ×ÛúŸÖ®Öê ¯ÖÏ´ÖÖÞÖ ´Öë 
×®Ö¬ÖÖÔ×¸üŸÖ Æîü ? 

– ´ÖÖ¯Ö®Ö 

(C) ×ÛúŸÖ®Öê †“”êû ºþ¯Ö ´Öë 
×®Ö¬ÖÖÔ×¸üŸÖ Æîü ? 

– ´Öæ»µÖÖÓÛú®Ö 

(D) Ã¾ÖßÛéú×ŸÖ ŸÖ£ÖÖ 
†Ã¾ÖßÛéú×ŸÖ ÛúÖ ×®Ö¬ÖÖÔ¸üÞÖ 

– ¯Ö¸üßõÖÞÖ 

¿ ÖÖ¸ü ß×¸ü Û ú ×¿ ÖõÖÖ 
¯ÖÏ¿®Ö¯Ö¡Ö – III 

 

®ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿®Ö¯Ö¡Ö ´Öë ¯Ö“ÖÆü¢Ö ü̧ (75) ²ÖÆãü-×¾ÖÛú»¯ÖßµÖ ¯ÖÏ¿®Ö Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú ¤üÖê (2) †ÓÛú Æïü … ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æïü … 
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13. Limitation of a research process includes 
 (A) age, sex and participation level 

of subjects. 
 (B) attitude and interest of subjects, 

and precision of available 
instrument. 

 (C) age, sex and interest of subjects. 
 (D) attitude, participation level and 

age of subjects. 
 

14. Which of the following is health 
related fitness component ? 

 (A) Reaction ability 
 (B) Agility 
 (C) Speed 
 (D) Muscular endurance 
 

15. Motor Educability is generally defined 
as  

 (A) Proficiency in a particular sport 
 (B) High level motor fitness 
 (C) Ability to perform fundamental 

movements 
 (D) Ability to learn different motor 

skills quickly and easily 
 

16. Which of the following diseases is 
categorized as Psychosomatic disease ? 

 (A) Small pox (B) Tuberculosis 
 (C) Asthma (D) Jaundice 
 

17. Which one of the following abilities is 
not required to make a physical 
educator dynamic for the dynamic 
discipline of physical education ? 

 (A) The ability to monopolise 
 (B) The ability to analyse 
 (C) The ability to organise 
 (D) The ability to supervise 
 

18. Which sport was eliminated from 
Olympic list during the Executive 
Board Meeting of IOC at London and 
has made a successful comeback for 
2020 Olympic at recently held General 
Body Meeting of IOC ? 

 (A) Baseball (B) Softball 
 (C) Golf (D) Wrestling 
 

19. In a 400 m race the second lane 
runner started with stagger distance of 
7.04 m. What will be his displacement 
at completion of the race ? 

 (A) 400 m (B) 0 m 
 (C) 7.04 m (D) –7.04 m 

20. Select the correct choice regarding 

the Neuro-transmitter that increases 

the permeability at Myo-neurol 

junction is known as  

 (A) Adrinaline 

 (B) Acetyl choline 

 (C) Ptyalin 

 (D) Catecholamine 

 
21. Select the correct option : 

 Father of Naturalism is  

 (A) Plato (B) John Dewey 

 (C) Aristotle (D) Rousseau  

 

22. Biological basis of physical activity 

involves : 

 I. Sex and age characteristics 

 II. Growth and exercise 

 III. Motor skill acquisition 

 IV. Transfer of training 

 Find the correct combination  

 (A) I and II (B) II and III 

 (C) III and IV (D) IV and I 

 
23. Islet of Langer Hans produces two 

hormones : 

 I. Corticoids 

 II. Glucagon 

 III. Gonadotrophic 

 IV. Insulin 

 Select the correct answer 

 (A) I and II (B) II and IV 

 (C) III and IV (D) IV and I 

 
24. To develop cognitive ability 

cognitive skills are : 
 I. Know the difference between 

feeling and action. 
 II. Reading and interpreting social 

cues 
 III. Positive attitude to life 

situations 
 IV. Regulate emotions to manage 

cognitive stress 
 Find the correct combination : 
 (A) I and IV (B) II and III 
 (C) II and IV (D) III and I 
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13. ÃÖÓ¿ÖÖê¬Ö®Ö ¯ÖÏ×ÛÎúµÖÖ Ûúß ÃÖß´ÖÖ†Öë ´Öë †ÖŸÖÖ Æîü : 
 (A) ˆ´ÖÏ, Ø»ÖÝÖ †Öî̧ ü ³ÖÖÝÖ »Öê®Öê ¾ÖÖ»ÖÖë ÛúÖ ÃŸÖ ü̧ … 
 (B) ³ÖÖÝÖ »Öê®Öê ¾ÖÖ»ÖÖë Ûúß ´Ö®ÖÖê¾Öé×¢Ö ŸÖ£ÖÖ ¸üÃÖ 

†Öî¸ü ¯ÖÏÖ¯ŸÖ ÃÖÖ¬Ö®ÖÖë Ûúß ÃÖæõ´ÖŸÖÖ … 
 (C) ˆ´ÖÏ, Ø»ÖÝÖ †Öî̧ ü ³ÖÖÝÖ »Öê®Öê ¾ÖÖ»ÖÖë ÛúÖ ü̧ÃÖ … 
 (D) ´Ö®ÖÖê¾Öé×¢Ö, ³ÖÖÝÖ »Öê®Öê ¾ÖÖ»ÖÖë ÛúÖ ÜÖê»ÖÖë ´Öë 

³ÖÖÝÖ »Öê®Öê ÛúÖ ÃŸÖ¸ü †Öî̧ ü ˆ®ÖÛúß ˆ´ÖÏ … 
 

14. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ Ã¾ÖÖÃ£µÖ ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ 
‘×±ú™ü®ÖêÃÖ’ ‘Ö™üÛú Æîü ? 

 (A) ¯ÖÏ×ŸÖ×ÛÎúµÖÖ Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 (B) ±ãúŸÖá 
 (C) ÝÖ×ŸÖ 
 (D) ¯Öê¿ÖßµÖ ÃÖÆü®Ö¿Ö×ŒŸÖ 
 

15. ÃÖÖ´ÖÖ®µÖŸÖ: ´ÖÖê™ü¸ü ‹•ÖãÛêú×²Ö×»Ö™üß Ûúß ¾µÖÖÜµÖÖ Ûúß 
•ÖÖŸÖß Æîü : 

 (A) ×¾Ö×¿ÖÂ™ü ÛÎúß›üÖ ´Öë ¯ÖÏÖ×¾ÖÞµÖ 
 (B) ˆ““Ö ÃŸÖ¸ü ´ÖÖê™ü¸ü ×±ú™ü®ÖêÃÖ 
 (C) ´Öæ»Ö³ÖæŸÖ Æü»Ö®Ö“Ö»Ö®Ö Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 (D) ×¾Ö×³Ö®®Ö ´ÖÖê™ü¸ü ÛúÖî¿Ö»Ö ¿Öß‘ÖÐ †Öî̧ ü †Ö¸üÖ´Ö 

ÃÖê ÃÖßÜÖ®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 

16. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×ÛúÃÖê ´Ö®Ö:¿ÖÖ¸üß×¸üÛú ²Öß´ÖÖ¸üß 
Ûúß ÁÖêÞÖß ´Öë ¸üÜÖëÝÖê ? 

 (A) “Öê“ÖÛú (B) ŸÖ¯Öê×¤üÛú 
 (C) ¤ü´ÖÖ (D) ¯Öß×»ÖµÖÖ 
 

17. ¿ÖÖ¸üß×¸üÛú ×¿ÖõÖÖ •ÖîÃÖê ÝÖ×ŸÖ¿Öß»Ö ×¾ÖÂÖµÖ Ûêú 
¿ÖÖ¸üß×¸üÛú ×¿ÖõÖÛú ÛúÖê ÝÖ×ŸÖ¿Öß»Ö ²Ö®ÖÖ®Öê Ûêú ×»Ö‹ 
×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×ÛúÃÖ µÖÖêÝµÖŸÖÖ Ûúß 
†Ö¾Ö¿µÖÛúŸÖÖ ®ÖÆüà ÆüÖêŸÖß ? 

 (A) ‹ÛúÖ×¬ÖÛúÖ¸ü Ã£ÖÖ×¯ÖŸÖ Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 (B) ×¾Ö¿»ÖêÂÖÞÖ Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 (C) ÃÖÓÝÖšü®Ö Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 (D) ¯ÖµÖÔ¾ÖêõÖÞÖ Ûú¸ü®Öê Ûúß µÖÖêÝµÖŸÖÖ 
 

18. »ÖÓ¤ü®Ö ´Öë †ÖµÖÖê×•ÖŸÖ †Ö‡Ô.†Öê.ÃÖß. Ûúß ÛúÖµÖÔÛúÖ¸üß 
¯Ö×¸üÂÖ¤Ëü Ûúß ²ÖîšüÛú ´Öë ×ÛúÃÖ ÜÖê»Ö ÛúÖê †Öê»ÖÓ×¯ÖÛú 
Ûúß ÃÖæ“Öß ÃÖê ×®ÖÛúÖ»Ö ×¤üµÖÖ ÝÖµÖÖ £ÖÖ †Öî¸ü ×•ÖÃÖê 
ÆüÖ»Ö ´Öë †ÖµÖÖê×•ÖŸÖ †Ö‡Ô.†Öê.ÃÖß. Ûúß †Ö´Ö ÃÖ³ÖÖ 
Ûúß ²ÖîšüÛú ´Öë 2020 ´Öë †ÖµÖÖê×•ÖŸÖ ÆüÖê®Öê ¾ÖÖ»Öê 
†Öê»ÖÓ×¯ÖÛú Ûêú ×»Ö‹ ¿ÖÖ×´Ö»Ö Ûú¸ü ×»ÖµÖÖ ÝÖµÖÖ Æîü ? 

 (A) ²ÖêÃÖ²ÖÖò»Ö (B) ÃÖÖò°™ü²ÖÖò»Ö 
 (C) ÝÖÖê»±ú (D) Ûãú¿ŸÖß 
 

19. 400 ´Öß. Ûúß ‹Ûú ¤üÖî›Ìü ´Öë ×«üŸÖßµÖ ¤üÖî›Ìü ¯Ö£Ö Ûêú 
¬ÖÖ¾ÖÛú ®Öê 7.04 ´Öß Ûúß Ã™îüÝÖ¸ü ¤æü¸üß ÃÖê ¤üÖî›Ìü®ÖÖ 
†Ö¸Óü³Ö ×ÛúµÖÖ … ¤üÖî›Ìü Ûúß ÃÖ´ÖÖ×¯ŸÖ ¯Ö¸ü ˆÃÖÛúÖ 
×›üÃ¯»ÖêÃÖ´Öë™ü ŒµÖÖ ÆüÖêÝÖÖ ? 

 (A) 400 ´Öß. (B) 0 ´Öß. 
 (C) 7.04 ´Öß. (D) –7.04 ´Öß. 

20. ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 
 ´ÖÖµÖÖê ®µÖæ¸ü»Ö •ÖÓŒ¿Ö®Ö Ûêú ³ÖßŸÖ¸ü ¯ÖÏ¾Öê¿Ö Ûúß õÖ´ÖŸÖÖ 

²ÖœÌüÖ®Öê ¾ÖÖ»ÖÖ ®µÖæ¸üÖê-™ÒüÖÓÃÖ´Öß™ü¸ü ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê 
ÛúÖî®Ö ÃÖÖ Æîü ? 

 (A) ‹›Òüß®Ö»Öß®Ö 
 (B) †×ÃÖ×™ü»Ö ÛúÖê»Öß®Ö 
 (C) ™üÖµÖ»Öß®Ö 
 (D) Ûîú™êüÛúÖê»ÖÖ´ÖÖ‡®Ö 
 

21. ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹ : 
 ¯ÖÏÛéú×ŸÖ¾ÖÖ¤ü ÛúÖ •Ö®ÖÛú ×ÛúÃÖê ´ÖÖ®ÖÖ •ÖÖŸÖÖ Æîü ? 
 (A) ¯»Öê™üÖê (B) •ÖÖò®Ö ›êü¾Öß 
 (C) †¸üÃŸÖæ (D) ºþÃÖÖê 
 

22. ¿ÖÖ¸üß×¸üÛú ×ÛÎúµÖÖÛú»ÖÖ¯Ö Ûêú •Öß¾Ö¾Öî–ÖÖ×®ÖÛú †Ö¬ÖÖ¸ü 
´Öë ×®Ö×ÆüŸÖ Æîü : 

 I. Ø»ÖÝÖ ŸÖ£ÖÖ †ÖµÖã †×³Ö»ÖõÖÞÖ 
 II. ¾Öé×¨ü ŸÖ£ÖÖ ¾µÖÖµÖÖ´Ö 
 III. “Ö»Ö®Ö ÛúÖî¿Ö»Ö †×¬ÖÝÖÏÆüÞÖ 
 IV. ¯ÖÏ×¿ÖõÖÞÖ ÛúÖ ÆüÃŸÖÖÓŸÖ¸üÞÖ 
 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö ²ÖŸÖÖ‡‹ :  
 (A) I ŸÖ£ÖÖ II (B) II ŸÖ£ÖÖ III 
 (C) III ŸÖ£ÖÖ IV (D) IV ŸÖ£ÖÖ I 
 

23. †Ö‡»Öê™ü †Öò±ú »ÖïÝÖ¸ü ÆïüÃÖ ÛúÖî®Ö ÃÖê ¤üÖê ÆüÖ´ÖÖì®ÃÖ 
ˆŸ¯Ö®®Ö Ûú¸üŸÖÖ Æîü ? 

 I. ÛúÖê™üáŒ¾ÖÖµÖ›ËüÃÖ 
 II. Ý»ÖæÛêúÝÖÖò®Ö 
 III. ÝÖÖê®ÖÖ›üÖê™ÒüÖò×±úÛú 
 IV. ‡ÓÃÖã×»Ö®Ö 
 ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 
 (A) I ŸÖ£ÖÖ II (B) II ŸÖ£ÖÖ IV 

 (C) III ŸÖ£ÖÖ IV (D) IV ŸÖ£ÖÖ I 
 

24. ÃÖÓ–ÖÖ®ÖÖŸ Ö́Ûú µÖÖêÝµÖŸÖÖ ÛúÖê ×¾ÖÛú×ÃÖŸÖ Ûú ü̧®Öê Ûêú ×»Ö‹ 
×Ûú®Ö ÃÖÓ–ÖÖ®ÖÖŸ Ö́Ûú ÛúÖî¿Ö»ÖÖë Ûúß †Ö¾Ö¿µÖÛúŸÖÖ ÆüÖêŸÖß Æîü ? 

 I. †®Öã³Öæ×ŸÖ ŸÖ£ÖÖ ×ÛÎúµÖÖ Ûêú ²Öß“Ö †ÓŸÖ¸ü ÛúÖê 
•ÖÖ®Ö®ÖÖ 

 II. ÃÖÖ´ÖÖ×•ÖÛú ´Ö®ÖÖê³ÖÖ¾Ö ÛúÖê ¯ÖœÌü®ÖÖ ŸÖ£ÖÖ 
¾µÖÖÜµÖÖ Ûú¸ü®ÖÖ 

 III. •Öß¾Ö®Ö-×Ã£Ö×ŸÖµÖÖë Ûêú ¯ÖÏ×ŸÖ ÃÖÛúÖ¸üÖŸ´ÖÛú 
†×³Ö¾Öé×¢Ö 

 IV. ÃÖÓ–ÖÖ®ÖÖŸ´ÖÛú ¤ü²ÖÖ¾Ö ÛúÖê ¾µÖ¾Ö×Ã£ÖŸÖ Ûú¸ü®Öê 
Ûêú ×»Ö‹ ÃÖÓ¾ÖêÝÖÖë ÛúÖ ×®ÖµÖÓ¡ÖÞÖ 

 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö ²ÖŸÖÖ‡‹ :  
 (A) I ŸÖ£ÖÖ IV (B) II ŸÖ£ÖÖ III 
 (C) II ŸÖ£ÖÖ IV (D) III ŸÖ£ÖÖ I 
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25. Use the correct code given below : 
 Inspired air goes sequentially through 
 I. Nose II. Lungs 
 III. Heart IV. Cells 
 Codes : 
 (A) IV III II I 
 (B) II III IV I 
 (C) I II III IV 
 (D) I IV III II 
 

26. A physical education professional 
needs self assessment of personality 
factors to achieve goals 

 I. Strength 
 II. Personal relation 
 III. Weakness 
 IV. Personal stress 
 Find out the correct combination 

from the codes given below : 
 Codes : 
 (A) I, III (B) I, II 
 (C) II, IV (D) III, IV 
 

27. The categories of ergogenic aids are 
given below : 

 I. Methylephedrine 
 II. Testosterone 
 III. Myoglobin 
 IV. Glycolysis 
 Find the correct combination from 

the codes given below : 
 Codes : 
 (A) I, IV (B) II, III 
 (C) I, II (D) II, IV 
 

28. Implications for techniques training 
in first phase include : 

 I. Less Corrections 
 II. Practice under easier condition 
 III. High frequency of competition 
 IV. Stress on kinesthetic perception 
 Find the correct combination 
 (A) I and II (B) II and III 
 (C) III and IV (D) I and IV 
 

29. Use the correct code for given below : 
 Arrange the organs of the circulatory 

system in a sequence through which 
blood flows. 

 I. Heart II. Aorta 
 III. Artery IV. Capillary 
 Codes : 
 (A) IV III II I 
 (B) I II III IV 
 (C) II III IV I 
 (D) III II I IV 

30. A chi-square (χ2) test involves 

different steps as indicated below : 

 I. Calculation of expected frequency 

 II. Calculation of observed 

frequencies 

 III. Calculation of χ2 value 

 IV. Interpretation of the results 
 Select the right sequence of above 

steps from the code given below : 
 Codes : 
 (A) I II III IV 
 (B) II I III IV 
 (C) II III IV I 
 (D) III IV II I 
 

31. Following are the important 
characteristics of a standardized test : 

 I. Objectivity 
 II. Reliability 
 III. Validity 
 Proper sequence of these 

characteristics should be  
 (A) I, II and III (B) I, III and II 
 (C) III, I and II (D) II, III and I 
 

32. The following principles of personnel 
management bring about satisfaction 
among greater number of people : 

 I. Appropriate organizational 
structure 

 II. Delegation of Authority 
 III. Cooperation / Team work 
 IV. Career Advancement 
 V. Individual differences 
 Find the correct combination :  
 (A) V III II I 
 (B) I II III IV 
 (C) III V IV II 
 (D) II I V III 
 

33. Body composition of a person 
involves components like 

 I. Lean Body Mass 
 II. Body Density 
 III. Fat Body Mass 
 IV. Percent Body Fat 
 Among them the components which 

are directly involved in Body 
composition are  

 (A) I and II (B) I and III 
 (C) II and IV (D) III and IV 
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25. ÃÖÆüß ÛúÖê›ü “Öã×®Ö‹ : 
 ¿¾ÖÖÃÖ ¾ÖÖµÖã ×®Ö´®Ö×»Ö×ÜÖŸÖ †ÓÝÖÖë ÃÖê ×ÛúÃÖ ÛÎú´Ö ´Öë 

ÝÖã•Ö¸üŸÖß Æîü ? 
 I. ®ÖÖÛú II. ±êú±ú›Ìêü 
 III. Çü¤üµÖ IV. ÛúÖê×¿ÖÛúÖ‹Ñ 
 Û úÖê ›ü  : 
 (A) IV III II I 
 (B) II III IV I 
 (C) I II III IV 
 (D) I IV III II 
 

26. ¿ÖÖ¸üß×¸üÛú ×¿ÖõÖÖ Ûêú ¾µÖÖ¾ÖÃÖÖ×µÖÛú ¾µÖ×ŒŸÖ ÛúÖê 
ˆ§êü¿µÖ ¯ÖÏÖ¯ŸÖ Ûú¸ü®Öê Ûêú ×»Ö‹ ¾µÖ×ŒŸÖŸ¾Ö Ûêú Ã¾ÖµÖÓ-
´Öæ»µÖÖÓÛú®Ö Ûêú ‘Ö™üÛú Æïü : 

 I. ¿Ö×ŒŸÖ 
 II. ¾µÖ×ŒŸÖÝÖŸÖ ÃÖÓ²ÖÓ¬Ö 
 III. Ûú´Ö•ÖÖê¸üß 
 IV. ¾µÖ×ŒŸÖÝÖŸÖ ŸÖ®ÖÖ¾Ö 
 ×®Ö´®Ö×»Ö×ÜÖŸÖ ÛúÖê›ü ´Öë ÃÖê ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö ²ÖŸÖÖ‹Ñ : 
 Û úÖê ›ü  : 
 (A) I, III (B) I, II 
 (C) II, IV (D) III, IV 
 

27. ‹¸üÝÖÖê•Öê×®ÖÛú ‹›ÃÖË Ûúß ÁÖêÞÖß ®Öß“Öê ¤üß Æîü : 
 I. ×´Ö£ÖÖ‡»Ö±êú›ÒüÖ‡®Ö 
 II. ™êüÃ™üÖêÃ™êü¸üÖò®Ö 
 III. ´ÖÖµÖÖêÝ»ÖÖê²Öß®Ö 
 IV. Ý»ÖÖ‡ÛúÖê×»ÖÃÖßÃÖ 
 ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö –ÖÖŸÖ Ûú¸êü : 
 Û úÖê ›ü  : 
 (A) I, IV (B) II, III 
 (C) I, II (D) II, IV 
 

28. ¯ÖÏ£Ö´Ö “Ö¸üÞÖ ´Öë ŸÖÛú®ÖßÛú ¯ÖÏ×¿ÖõÖÞÖ Ûêú ×»Ö‹ 
×¾Ö¾ÖõÖÖ†Öë ´Öë ¿ÖÖ×´Ö»Ö Æïü : 

 I. Ûú´Ö ÝÖ»ÖŸÖß-ÃÖã¬ÖÖ¸ü 
 II. †ÖÃÖÖ®Ö ¯Ö×¸ü×Ã£Ö×ŸÖ ´Öë †³µÖÖÃÖ 
 III. ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ Ûúß ˆ““Ö †Ö¾Öé×¢Ö 
 IV. ÛúÖ‡®ÖêÃ£Öê×™üÛú ²ÖÖê¬Ö ¯Ö¸ü ¤ü²ÖÖ¾Ö 
 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö “Öã×®Ö‹ :  
 (A) I ŸÖ£ÖÖ II (B) II ŸÖ£ÖÖ III 
 (C) III ŸÖ£ÖÖ IV (D) I ŸÖ£ÖÖ IV 
 

29. ÃÖÆüß ÛúÖê›ü “Öã×®Ö‹ : 
 ¸üŒŸÖ Ûêú ¯ÖÏ¾ÖÖ×ÆüŸÖ ÆüÖê®Öê Ûêú ÛÎú´Ö ´Öë ¯Ö×¸üÃÖÓ“Ö¸üÞÖ ŸÖÓ¡Ö 

Ûêú ×®Ö´®Ö×»Ö×ÜÖŸÖ †ÓÝÖÖë ÛúÖê ¾µÖ¾Ö×Ã£ÖŸÖ Ûúß×•Ö‹ : 
 I. Çü¤üµÖ II. ´ÖÆüÖ¬Ö´Ö®Öß 
 III. ¬Ö´Ö®Öß IV. Ûîú×¯Ö»Ö¸üß 
 Û úÖê ›ü  : 
 (A) IV III II I 
 (B) I II III IV 
 (C) II III IV I 
 (D) III II I IV 

30. ÛúÖ‡Ô ÃŒ¾Öê†¸ü (χ2) ™êüÃ™ü ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ “Ö¸üÞÖ 
†ÖŸÖê Æïü : 

 I. †¯Öê×õÖŸÖ ²ÖÖ Ó̧ü²Ö¸üŸÖÖ ÛúÖ ÝÖÞÖ®Ö 
 II. †¾Ö»ÖÖê×ÛúŸÖ ²ÖÖ¸Óü²Ö¸üŸÖÖ ÛúÖ ÝÖÞÖ®Ö 
 III. ÛúÖ‡Ô ÃŒ¾Öê†¸ü (χ2) Ûêú ´Öæ»µÖ ÛúÖ ÝÖÞÖ®Ö 
 IV. ¯Ö×¸üÞÖÖ´ÖÖë ÛúÖ †£ÖÔ ×®Ö¾ÖÔ“Ö®Ö 
 ×®Ö´®Ö×»Ö×ÜÖŸÖ ÛúÖê›ü ´Öë ÃÖê ÃÖÆüß ÛÎú´Ö “Öã×®Ö‹ : 
 Û úÖê ›ü  : 
 (A) I II III IV 

 (B) II I III IV 

 (C) II III IV I 

 (D) III IV II I 

 

31. ‹Ûú ¯ÖÏ´ÖÖ×ÞÖÛú ™êüÃ™ü Ûúß ×®Ö´®Ö×»Ö×ÜÖŸÖ ×¾Ö¿ÖêÂÖŸÖÖ‹Ñ 
ÆüÖêŸÖß Æïü : 

 I. ¾ÖÃŸÖã×®ÖÂšüŸÖÖ 
 II. ×¾Ö¿¾ÖÃÖ®ÖßµÖŸÖÖ 
 III. ¾Öî¬ÖŸÖÖ 
 ‡®Ö ×¾Ö¿ÖêÂÖŸÖÖ†Öë ÛúÖ ˆ¯ÖµÖãŒŸÖ ÛÎú´Ö ÆüÖê®ÖÖ “ÖÖ×Æü‹ : 
 (A) I, II †Öî¸ü III (B) I, III †Öî¸ü II 
 (C) III, I †Öî¸ü II (D) II, III †Öî¸ü I 
 

32. ¾ÖîµÖ×ŒŸÖÛú ¯ÖÏ²Ö®¬Ö®Ö Ûêú ×®Ö´®Ö×»Ö×ÜÖŸÖ ×ÃÖ¨üÖ®ŸÖ 
†×¬ÖÛúŸÖ´Ö »ÖÖêÝÖÖë ´Öë ÃÖÓŸÖã×Â™ü »ÖÖŸÖê Æïü : 

 I. ˆ¯ÖµÖãŒŸÖ ÃÖÓÝÖšü®ÖÖŸ´ÖÛú œüÖÑ“ÖÖ 
 II. †×¬ÖÛúÖ¸üÖë ÛúÖ ÆüÃŸÖÖÓŸÖ¸üÞÖ 
 III. ÃÖ´Ö®¾ÖµÖ/™üß´Ö¾ÖÛÔú 
 IV. •Öß×¾ÖÛúÖ ÃÖÓ¾Ö¬ÖÔ®Ö 
 V. ¾µÖ×ŒŸÖÝÖŸÖ ×¾Ö×³Ö®®ÖŸÖÖ‹Ñ 
 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö –ÖÖŸÖ Ûúß×•Ö‹ :  
 (A) V III II I 

 (B) I II III IV 

 (C) III V IV II 

 (D) II I V III 

 

33. ‹Ûú ¾µÖ×ŒŸÖ Ûúß ¿ÖÖ¸üß×¸üÛú ²Ö®ÖÖ¾Ö™ü Ûêú ‘Ö™üÛúÖë ´Öë 
ÃÖ×´´Ö×»ÖŸÖ ÆüÖêŸÖê Æïü 

 I. »Öß®Ö ²ÖÖò›üß ´ÖÖÃÖ 
 II. ¿ÖÖ¸üß×¸üÛú ‘Ö®ÖŸÖÖ 
 III. ±îú™ü ²ÖÖò›üß ´ÖÖÃÖ 
 IV. ¯ÖÏ×ŸÖ¿ÖŸÖ ²ÖÖò›üß ±îú™ü 
 ‡®Ö´Öë ÃÖê ¾ÖÆü ‘Ö™üÛú •ÖÖê ¿ÖÖ¸üß×¸üÛú ²Ö®ÖÖ¾Ö™ü ´Öë ÃÖß¬Öê 

ŸÖÖî¸ü ¯Ö¸ü ÃÖ×´´Ö×»ÖŸÖ Æïü, ¾ÖÆü Æïü 
 (A) I †Öî¸ü II (B) I †Öî¸ü III 
 (C) II †Öî¸ü IV (D) III †Öî¸ü IV 
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34. Given below are two statements, one 
labelled as Assertion (A) and the other 
as the Reason (R). 

 Assertion (A) : An infant can run and 
walk in better way than holding a 
pen or pencil to write. 

 Reason (R) : An infant first gains 
control over large muscle groups 
than the fine ones 

 Which of the following statements is 
correct ? 

 (A) Both (A) and (R) are true and (R) 
is the correct explanation of (A). 

 (B) Both (A) and (R) are true but (R) 
is not the correct answer of (A). 

 (C) (A) is true, but (R) is false. 
 (D) (A) is false but (R) is true. 
 

35. Given below are two statements, one 
of which is labelled as Assertion (A) 
and the other is labelled as Reason (R) : 

 Assertion (A) : Sprains and 
dislocations are the same injuries 
occurring at joints & rupturing 
the ligaments and tendons. 

 Reason (R) : Sprain is the injury 
that damages the ligaments. 

 Which one of the following is correct ? 
 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 
 (B) Both (A) and (R) are true but (R) 

is not the correct explanation of 
(A). 

 (C) (A) is true, but (R) is false. 
 (D) (A) is false but (R) is true. 
 

36. Given below are two statements, one 
labelled as Assertion (A) and the other 
labelled as Reason (R). 

 Assertion (A) : For rotation around 
horizontal axis, a diver assumes 
tuck position. 

 Reason (R) : Radius of rotation has 
direct relation with angular 
velocity. 

 In the context of the above two statements, 
which one of the following is correct ? 

 (A) Both (A) and (R) are true and (R) 
is the correct explanation of (A). 

 (B) Both (A) and (R) are true but (R) 
is not the correct answer of (A). 

 (C) (A) is true, but (R) is false. 
 (D) (A) is false but (R) is true. 

37. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R). 

 Assertion (A) : Social loafing 

occurs when the identifiability 

of individual performance is 

lost in a team performance and 

performance decreases due to 

diffusion of responsibility. 

 Reason (R) : Players need to have 

their individual performance 

monitored and they need to be 

made accountable for their 

personal contribution to the 

team performance. 

 In the context of the above two 

statements, which one of the 

following is correct ? 

 Codes : 

 (A) Both are true but (R) is not the 

correct explanation of (A). 

 (B) Both are true and (R) is correct 

explanation of (A). 

 (C) (A) is true but (R) is false.  

 (D) (A) is false but (R) is true. 

 

38. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R). 

 Assertion (A) : In Parry O’ Brien 

technique of putting the shot 

gliding from initial stance 

position is the main phase of 

the technique. 

 Reason (R) : Gliding increases 

momentum of the body. 

 In the context of the above two 

statements, which one of the 

following is correct ? 

 Codes : 

 (A) Both (A) and (R) are true but 

(R) is not the correct 

explanation of (A). 

 (B) Both (A) and (R) are true and (R) 

is the correct explanation of (A).  

 (C) (A) is true but (R) is false.  

 (D) (A) is false but (R) is true.  
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34. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ×»ÖÜÖ®Öê Ûêú ×»Ö‹ ¯Öë×ÃÖ»Ö µÖÖ 
Ûú»Ö´Ö ¯ÖÛú›Ìü®Öê Ûúß †¯ÖêõÖÖ ‹Ûú ×¿Ö¿Öã 
²ÖêÆüŸÖ¸ü œÓüÝÖ ÃÖê ¤üÖî›Ìü ŸÖ£ÖÖ “Ö»Ö ÃÖÛúŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ×¿Ö¿Öã ÛúÖê ²Ö›Ìüß ´ÖÖÓÃÖ¯Öê×¿ÖµÖÖë 
¯Ö¸ü ×®ÖµÖÓ¡ÖÞÖ ¯ÖÆü»Öê ÆüÖêŸÖÖ Æîü ŸÖ£ÖÖ ÃÖæõ´Ö 
´ÖÖÓÃÖ¯Öê×¿ÖµÖÖë ¯Ö¸ü ˆÃÖÛêú ²ÖÖ¤ü … 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ ¾ÖŒŸÖ¾µÖ ÃÖÆüß Æîü ? 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

35. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ´ÖÖê“Ö ŸÖ£ÖÖ Ã£ÖÖ®Ö³ÖÏÓ¿Ö ÃÖ´ÖÖ®Ö 
¯ÖÏÛúÖ¸ü Ûúß “ÖÖê™ëü Æïü •ÖÖê †×Ã£ÖÃÖÓ×¬ÖµÖÖë ´Öë 
ÆüÖêŸÖß Æïü •ÖÖê †×Ã£Ö²ÖÓ¬ÖÖë †Öî¸ü ´ÖÖÓÃÖ¯Öê¿Öß²ÖÓ¬ÖÖë 
ÛúÖê ³ÖÓÝÖ Ûú¸ü ¤êüŸÖß Æïü … 

 Û úÖ¸ü ÞÖ (R) : ´ÖÖê“Ö ‹Ûú ‹êÃÖß “ÖÖê™ü Æîü •ÖÖê 
†×Ã£Ö²ÖÓ¬Ö ÛúÖê õÖ×ŸÖ ¯ÖÆãÑü“ÖÖŸÖß Æïü … 

 ˆ¯ÖµÖãÔŒŸÖ ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ 
×¾ÖÛú»¯Ö ÃÖÆüß Æîü ? 

 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 
(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 
(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

36. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : õÖî×ŸÖ•ÖßµÖ †õÖ Ûêú “ÖÖîŸÖ ü̧±úÖ 
‘ÖæÞÖÔ®Ö ´Öë ÝÖÖêŸÖÖÜÖÖȩ̂ ü ™üÛú ¯ÖÖê•Öß¿Ö®Ö »ÖêŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ‘ÖæÞÖÔ®Ö Ûúß ×¡Ö•µÖÖ ÛúÖ ÛúÖêÞÖßµÖ 
¾ÖêÝÖ Ûêú ÃÖÖ£Ö ÃÖß¬ÖÖ ÃÖÓ²ÖÓ¬Ö ÆüÖêŸÖÖ Æîü … 

 ˆ¯ÖµÖãÔŒŸÖ ¤üÖê®ÖÖë ¾ÖŒŸÖ¾µÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ 
´Öë ÃÖê ÛúÖî®Ö ÃÖÖ ÃÖÆüß Æîü ? 

 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 
(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ¯Ö¸ü®ŸÖã (R), 
(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

37. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ÃÖÖê¿Ö»Ö »ÖÖêØ±úÝÖ ŸÖ²Ö ‘Ö×™üŸÖ 
ÆüÖêŸÖÖ Æîü •Ö²Ö ¾µÖ×ŒŸÖÝÖŸÖ-¯ÖÏ¤ü¿ÖÔ®Ö ¤ü»Ö- 
¯ÖÏ¤ü¿ÖÔ®Ö ´Öë ÝÖã´Ö ÆüÖê •ÖÖŸÖÖ Æîü ŸÖ£ÖÖ 
ˆ¢Ö¸ü¤üÖ×µÖŸ¾Ö Ûêú ×¾ÖÃÖ¸üÞÖ Ûêú ÛúÖ¸üÞÖ 
¯ÖÏ¤ü¿ÖÔ®Ö ´Öë ÈüÖÃÖ ÆüÖêŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ×ÜÖ»ÖÖ×›ÌüµÖÖë Ûêú ¾µÖ×ŒŸÖÝÖŸÖ 
¯ÖÏ¤ü¿ÖÔ®Ö ÛúÖê ´ÖÖ®Öß™ü¸ü ×Ûú‹ •ÖÖ®Öê Ûúß 
†Ö¾Ö¿µÖÛúŸÖÖ Æîü ŸÖ£ÖÖ ¤ü»Ö-¯ÖÏ¤ü¿ÖÔ®Ö ´Öë ˆ®ÖÛêú 
¾µÖ×ŒŸÖÝÖŸÖ ¯ÖÏ¤ü¿ÖÔ®Ö Ûêú µÖÖêÝÖ¤üÖ®Ö Ûêú ×»Ö‹ 
ˆ®Æëü •Ö¾ÖÖ²Ö¤êüÆü ²Ö®ÖÖ®Öê Ûúß †Ö¾Ö¿µÖÛúŸÖÖ Æîü … 

 ˆ¯ÖµÖãÔŒŸÖ ¤üÖê ¾ÖŒŸÖ¾µÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë 
ÃÖê ÛúÖî®Ö ÃÖÖ ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖãü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

38. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ¿ÖÖò™ü¯Öã™ü Ûúß ¯Öî̧ üß †Öê ×²ÖÎ‹®Ö 
ŸÖÛú®ÖßÛú ´Öë †Ö¸Óü×³ÖÛú ÜÖ›Ìêü ÆüÖê®Öê Ûúß ´Öã¦üÖ 
ÃÖê ¯Öß”êû ×ÜÖÃÖÛú®ÖÖ ŸÖÛú®ÖßÛú Ûúß ¯ÖÏ´ÖãÜÖ 
†¾ÖÃ£ÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ¯Öß”êû ×ÜÖÃÖÛú®ÖÖ (Ý»ÖÖ‡Ø›üÝÖ) 
¿Ö¸üß¸ü Ûêú ÃÖÓ¾ÖêÝÖ ÛúÖê ²ÖœÌüÖŸÖÖ Æîü … 

 ˆ¯ÖµÖãÔŒŸÖ ¤üÖê®ÖÖë Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ 
´Öë ÃÖê ÛúÖî®Ö ÃÖÖ ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
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39. Given below are two statements, one is 
labelled as Assertion (A) and the other 
is labelled as Reason (R). 

 Assertion (A) : Curriculum is the 
learner’s engagements with 
various aspects of the environment 
which have been planned under 
the direction of the school. 

 Reason (R) : Curriculum offers 
simply plans for learning. 

 In the context of two statements, which 
one of the following is correct ? 

 Codes : 
 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 
 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A).  
 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 
 

40. Given below are two statements, one  
labelled as Assertion (A) and the other 
as Reason (R). 

 Assertion (A) : A physical education 
professional must have sound 
academic and professional 
qualifications. 

 Reason (R) : Personal qualities 
such as tactfulness, good human 
relation, dynamic and 
cooperation, creditable sports 
performance etc, contribute to 
become a successful professional 
in physical education.   

 Which one of the following is true ? 
 Codes : 
 (A) Both (A) and (R) are true but (R) is 

not the correct explanation of (A). 
 (B) (A) is true but (R) is false.  
 (C) Both (A) and (R) are true.  
 (D) Both (A) and (R) are false. 
 

41. Given below are two statements, one 
labelled as Assertion (A) and the other 
as Reason (R). 

 Assertion (A) : Muscles are machines 
that convert chemical energy into 
mechanical work. 

 Reason (R) : Skeletal muscles are 
called voluntary muscles. 

 In the context of the above two 
statements, which one of the following 
is correct ? 

 Codes : 
 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 
 (B) Both (A) and (R) are true, but 

(R) is not the correct explanation 
of (A). 

 (C) (A) is true but (R) is false.  
 (D) (A) is false and (R) is true. 

42. Given below are two statements, one 
labelled as Assertion (A) and the 
other as Reason (R). 

 Assertion (A) : Physical activity and 
sports is intended to some 
educational ends and to perform 
the desired social functions. 

 Reason (R) : Physical education 
and sports contributes to 
produce champion 

 Which one of the following is correct ? 
 Codes : 
 (A) Both (A) and (R) are true but 

(R) is not the correct 
explanation of (A). 

 (B) Both (A) and (R) are true and (R) 
is the correct explanation of (A). 

 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 
 

43. Given below are two statements, one 
labelled as Assertion (A) and the 
other as Reason (R). 

 Assertion (A) : Lactic Acid is a by 
product of Anaerobic Glycolysis. 

 Reason (R) : Lack of oxygen. 
 In the context of two statements, which 

one of the following is correct ? 
 Codes : 
 (A) Both (A) and (R) are true and 

(R) is the correct explanation of 
(A). 

 (B) Both (A) and (R) are true, but 
(R) is not the correct 
explanation of (A). 

 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 
 

44. Given below are two statements, one 
labelled as Assertion (A) and the 
other labelled as Reason (R). 

 Assertion (A) : In Fartlek, the 
sportsman changes the speed 
on his own during the activity 
according to terrain, 
surrounding and his feelings. 

 Reason (R) : This method 
requires more self discipline in order 
to be effective. In Fartlek, the heart 
rate fluctuates between 140-180 
beats/ minutes. 

 Find the correct answer : 
 Codes : 
 (A) Both (A) and (R) are right, but 

(R) is not the correct 
explanation of (A).   

 (B) Both (A) and (R) are right and (R) 
is the correct explanation of (A).   

 (C) (A) is right, but (R) is wrong.  
 (D) (A) is wrong, but (R) is right. 
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39. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê †×³ÖÛú£Ö®Ö 
(A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ×¾ÖªÖ»ÖµÖ Ûêú ×®Ö¤êü¿Ö®Ö ´Öë 
†ÖµÖÖê×•ÖŸÖ ÃÖßÜÖ®Öê ¾ÖÖ»Öê Ûúß ¾ÖÖŸÖÖ¾Ö ü̧ÞÖ Ûêú 
ÃÖÖ£Ö ÃÖÓ»ÖÝ®ÖŸÖÖ ÛúÖê ¯ÖÖšËüµÖ“ÖµÖÖÔ ÛúÆüÖ •ÖÖŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ¯ÖÖšËüµÖ“ÖµÖÖÔ Ûêú¾Ö»Ö ÃÖßÜÖ®Öê Ûúß 
µÖÖê•Ö®ÖÖ‹Ñ ¯ÖÏ¤üÖ®Ö Ûú¸üŸÖÖ Æîü … 

 ˆ¯ÖµÖãÔŒŸÖ ¤üÖê Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë 
ÛúÖî®Ö ÃÖÖ ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

40. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ‹Ûú ¿ÖÖ¸üß×¸üÛú ×¿ÖõÖÖ 
¾µÖ¾ÖÃÖÖµÖß Ûêú ¯ÖÖÃÖ šüÖêÃÖ ¿Öî×õÖÛú ŸÖ£ÖÖ 
¾µÖÖ¾ÖÃÖÖ×µÖÛú µÖÖêÝµÖŸÖÖ ÆüÖê®Öß “ÖÖ×Æü‹ … 

 Û úÖ¸ü ÞÖ (R) : ¿ÖÖ¸üß×¸üÛú ×¿ÖõÖÖ Ûêú õÖê¡Ö ´Öë 
ÃÖ±ú»Ö ¾µÖ¾ÖÃÖÖµÖß ²Ö®ÖÖ®Öê ´Öë ¾µÖ¾ÖÆüÖ¸ü 
Ûãú¿Ö»ÖŸÖÖ, ˆ¢Ö´Ö ´ÖÖ®Ö¾Ö-ÃÖÓ²ÖÓ¬Ö, 
ÝÖŸµÖÖŸ´ÖÛúŸÖÖ ŸÖ£ÖÖ ÃÖÆüµÖÖêÝÖ, ÃÖ¸üÖÆü®ÖßµÖ 
ÜÖê»Ö-¯ÖÏ¤ü¿ÖÔ®Ö •ÖîÃÖê ¾µÖ×ŒŸÖÝÖŸÖ ÝÖãÞÖÖë ÛúÖ 
µÖÖêÝÖ¤üÖ®Ö ÆüÖêŸÖÖ Æîü … 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ Ûú£Ö®Ö ÃÖÆüß Æïü ? 
 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 
 (C) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü …  
 (D) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÝÖ»ÖŸÖ Æïü … 
 

41. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ´ÖÖÓÃÖ¯Öê×¿ÖµÖÖÑ ¸üÖÃÖÖµÖ×®ÖÛú ‰ú•ÖÖÔ 
ÛúÖê µÖÖÓ×¡ÖÛú ÛúÖµÖÔ ´Öë ºþ¯ÖÖÓŸÖ×¸üŸÖ Ûú¸ü®Öê Ûúß 
´Ö¿Öß®Öë Æïü … 

 Û úÖ¸ü ÞÖ (R) : †×Ã£Ö ´ÖÖÓÃÖ¯Öê×¿ÖµÖÖë ÛúÖê 
‹ê×“”ûÛú ´ÖÖÓÃÖ¯Öê×¿ÖµÖÖÑ ÛúÆüÖ •ÖÖŸÖÖ Æîü … 

 ˆ¯ÖµÖãÔŒŸÖ ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ 
×¾ÖÛú»¯Ö ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

42. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê †×³ÖÛú£Ö®Ö 
(A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ¿ÖÖ¸üß×¸üÛú ÛúÖµÖÔÛú»ÖÖ¯Ö ŸÖ£ÖÖ 
ÜÖê»Ö ÛúÖ ˆ§êü¿µÖ Æîü ¿Öî×õÖÛú »ÖõµÖÖë Ûúß 
¯ÖÏÖ×¯ŸÖ Ûú¸ü®ÖÖ ŸÖ£ÖÖ ¾ÖÖÓ×”ûŸÖ ÃÖÖ´ÖÖ×•ÖÛú 
ÛúÖµÖÖí ÛúÖ ×®ÖÂ¯ÖÖ¤ü®Ö Ûú¸ü®ÖÖ 

 Û úÖ¸ü ÞÖ (R) : “Öî×´¯ÖµÖ®Ö ²Ö®ÖÖ®Öê ´Öë ¿ÖÖ¸üß×¸üÛú 
×¿ÖõÖÖ ŸÖ£ÖÖ ÜÖê»Ö ÛúÖ µÖÖêÝÖ¤üÖ®Ö ÆüÖêŸÖÖ Æîü … 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ ¾ÖŒŸÖ¾µÖ ÃÖÆüß Æîü ? 
 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

43. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : »Öê×Œ™üÛú ‹×ÃÖ›ü †®Ö¸üÖê×²ÖÛú 
Ý»ÖÖµÖÛúÖê×»Ö×ÃÖÃÖ ÛúÖ ²ÖÖòµÖ¯ÖÏÖê›üŒ™ü Æîü … 

 Û úÖ¸ü ÞÖ (R) : †ÖòŒÃÖß•Ö®Ö Ûúß Ûú´Öß … 
 ˆ¯Ö¸üÖêŒŸÖ ¤üÖê®ÖÖë Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ 

´Öë ÃÖê ÛúÖî®Ö ÃÖÖ ÃÖÆüß Æîü ? 
 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

44. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ±úÖ™Ôü»ÖêÛú ´Öë ×ÜÖ»ÖÖ›Ìüß-´Öî¤üÖ®Ö, 
¯ÖÏ×ŸÖ¾Öê¿Ö ŸÖ£ÖÖ †¯Ö®Öß †®Öã³Öæ×ŸÖµÖÖë Ûêú 
†®ÖãÃÖÖ¸ü †¯Ö®Öê ×ÛÎúµÖÖÛú»ÖÖ¯Ö Ûêú ¤üÖî¸üÖ®Ö 
†¯Ö®Öß ÝÖ×ŸÖ ÛúÖê Ã¾ÖµÖÓ ²Ö¤ü»Ö ¤êüŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ¯ÖÏ³ÖÖ¾ÖÖêŸ¯ÖÖ¤üÛú ÆüÖê®Öê Ûêú ×»Ö‹ 
‡ÃÖ ×¾Ö×¬Ö ´Öë †×¬ÖÛú †ÖŸ´ÖÖ®Öã¿ÖÖÃÖ®Ö Ûúß 
†Ö¾Ö¿µÖÛúŸÖÖ ÆüÖêŸÖß Æîü … ±úÖ™Ôü»ÖêÛú ´Öë Çü¤üµÖ 
Ûúß ÝÖ×ŸÖ 140-180 Ã¯ÖÓ¤ü®Ö ¯ÖÏ×ŸÖ ×´Ö®Ö™ü Ûêú 
²Öß“Ö ‘Ö™üŸÖß-²ÖœÌüŸÖß Æîü … 

 ÃÖÆüß ˆ¢Ö¸ü ²ÖŸÖÖ‡‹ : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
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45. Given below are two statements, one 
labelled as Assertion (A) and the other 
as Reason (R). 

 Assertion (A) : Recommendation of a 
study should indicate only the 
scope of future research and not 
the scope of practical applications. 

 Reason (R) : Recommendation of a 
study indicates the future use of 
knowledge obtained from a study. 

 In the context of the above two 
statements, which one of the following 
is correct ? 

 Codes : 
 (A) Both (A) and (R) are true, but 

(R) is not the correct explanation 
of (A). 

 (B) Both (A) and (R) are true and (R) is 
the correct explanation of (A).  

 (C) (A) is false but (R) is true.  
 (D) (A) is true but (R) is false. 
 

46. Given below are two statements, one 
of which is labelled as Assertion (A) 
and the other is labelled as Reason (R). 

 Assertion (A) : Bench press is an 
example of isotonic exercise. 

 Reason (R) : In isotonic muscle 
contraction the muscle tone remains 
same. 

 In the context of the above two statements, 
which one of the following is correct ? 

 Codes : 
 (A) Both (A) and (R) are true, but 

(R) is not the correct explanation 
of (A). 

 (B) Both (A) and (R) are true and (R) 
is the correct explanation of (A).  

 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true.  
 

47. Given below are two statements, one 
labelled as Assertion (A) and the other 
labelled as Reason (R). 

 Assertion (A) : In closed ended 
questions participants formulate 
their own response. 

 Reason (R) : Closed ended questions 
provide limited options to the 
participants. 

 In the context of two statements, which 
one of the following is correct ? 

 Codes : 
 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 
 (B) Both (A) and (R) are true, but 

(R) is not the correct explanation 
of (A). 

 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 

48. Given below are two statements, one 
labelled as Assertion (A) and the 
other as Reason (R). 

 Assertion (A) : Inspite of high 
values of validity and 
reliability coefficient the use of 
sport skill tests are minimally 
made by the selectors or 
trainers. 

 Reason (R) : Sports skill tests are 
time consuming, involve 
additional man power, lack 
sufficient research work and 
complex in application. 

 In the context of the above 
statements, which one of the 
following is true ? 

 Codes : 
 (A) Both (A) and (R) are true and 

(R) is not the correct 
explanation of (A). 

 (B) Both (A) and (R) are true and 
(R) is the correct explanation of 
(A). 

 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 
 
49. Given below are two statements, one 

of which is labelled as Assertion (A) 
and the other is labelled as Reason (R). 

 Assertion (A) : As the sports has 
evolved into a complex 
multibillion-dollar global 
entity, law has played a more 
dominant role in carrying out 
management functions in sports 
organizations. 

 Reason (R) : When sports 
managers make decisions, 
disagreements arise, those 
working and participating in 
sports are relying move heavily 
on the legal system for a 
resolution.  

 Codes : 
 (A) Both (A) and (R) are true, but 

(R) is not correct explanation 
of (A). 

 (B) Both (A) and (R) are true and (R) 
is a correct explanation of (A). 

 (C) (A) is false, but (R) is true.  
 (D) (A) is true, but (R) is false. 
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45. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê †×³ÖÛú£Ö®Ö 
(A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛ ú£ Ö® Ö (A) : ÃÖÓ¿ÖÖê¬Ö®Ö †³µÖÖÃÖ Ûêú ÃÖã—ÖÖ¾ÖÖë 
ÛúÖ Ûêú¾Ö»Ö ³Ö×¾ÖÂµÖ Ûêú ÃÖÓ¿ÖÖê¬Ö®Ö Ûêú õÖê¡Ö 
ÛúÖê ¤ü¿ÖÖÔ®ÖÖ “ÖÖ×Æü‹ ®Ö ×Ûú ˆ®ÖÛêú 
¾µÖ¾ÖÆüÖ×¸üÛú †®Öã¯ÖµÖÖêÝÖÖë ÛúÖê … 

 Û úÖ¸ü ÞÖ (R) : ÃÖÓ¿ÖÖê¬Ö®Ö †³µÖÖÃÖ Ûêú ÃÖã—ÖÖ¾Ö 
³Ö×¾ÖÂµÖ ´Öë ˆÃÖ †³µÖÖÃÖ Ûêú «üÖ¸üÖ ¯ÖÏÖ¯ŸÖ         
–ÖÖ®Ö ÛúÖ ˆ¯ÖµÖÖêÝÖ ¤ü¿ÖÖÔŸÖê Æïü … 

 ¤üÖê Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú ÃÖÆüß Æîü ? 
 Û úÖê ›ü  : 
 (A) (A) †Öî¸ü (R) ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), (A) 

ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) †Öî¸ü (R) ÃÖÆüß Æïü †Öî¸ü (R), (A) 

ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü …  
 (D) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 
 

46. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤ü‹ ÝÖ‹ Æïü, ‹Ûú ÛúÖê     
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R)          
ÛúÆüÖ ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ²Öê®“Ö ¯ÖÏêÃÖ µÖÆü †Ö‡ÃÖÖê™üÖê×®ÖÛú 
¾µÖÖµÖÖ´Ö ÛúÖ ˆ¤üÖÆü¸üÞÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : †Ö‡ÃÖÖê™üÖê×®ÖÛú ´ÖÃÖ»Ö 
ÛúÖê®™ÒêüŒ¿Ö®Ö ´Öë ´ÖÃÖ»Ö ™üÖê®Ö ¾ÖÆüß ¸üÆüŸÖß Æîü …  

 ¤üÖê®ÖÖë Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö 
ÃÖÖ Ûú£Ö®Ö ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

47. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê †×³ÖÛú£Ö®Ö 
(A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ²ÖÓ¤ü ×ÃÖ ȩ̂ü ¾ÖÖ»Öê ¯ÖÏ¿®ÖÖë ´Öë ³ÖÖÝÖ 
»Öê®Öê ¾ÖÖ»Öê †¯Ö®Öê ¯ÖÏ¿®Ö Ã¾ÖµÖÓ ¯ÖÏ×ŸÖ²Ö¨ü 
Ûú¸üŸÖê Æïü … 

 Û úÖ¸ü ÞÖ (R) : ²ÖÓ¤ü ×ÃÖ ȩ̂ü ¾ÖÖ»Öê ¯ÖÏ¿®Ö ³ÖÖÝÖ »Öê®Öê 
¾ÖÖ»ÖÖë ÛúÖê ÃÖß×´ÖŸÖ ×¾ÖÛú»¯Ö ¤êüŸÖê Æïü … 

 ¤üÖê Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú ÃÖÆüß Æîü ? 
 Û úÖê ›ü  : 
 (A) (A) †Öî¸ü (R) ÃÖÆüß Æïü †Öî¸ü (R), (A) 

ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (B) (A) †Öî¸ü (R) ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), (A) 

ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

48. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ¾Öî¬ÖŸÖÖ ‹¾ÖÓ ×¾Ö¿¾ÖÃÖ®ÖßµÖŸÖÖ 
ÛúÖê‹×±ú×ÃÖ‹Ó™ü Ûêú ˆ““Ö ´Öæ»µÖ Ûêú ²ÖÖ¾Ö•Öæ¤ü 
“ÖµÖ®ÖÛúŸÖÖÔ µÖÖ ¯ÖÏ×¿ÖõÖÛúÖë «üÖ¸üÖ ÜÖê»Ö 
ÛúÖî¿Ö»Ö ™êüÃ™ü ÛúÖ ¯ÖÏµÖÖêÝÖ ²ÖÆãüŸÖ Ûú´Ö ÆüÖêŸÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : ÜÖê»Ö ÛúÖî¿Ö»Ö ™êüÃ™ü †×¬ÖÛú 
ÃÖ´ÖµÖ »Öê®Öê ¾ÖÖ»Öê, †×ŸÖ×¸üŒŸÖ ´ÖÖ®Ö¾Ö 
ÃÖÖ¬Ö®Ö, ˆ¯ÖµÖãŒŸÖ ¿ÖÖê¬Ö ÛúÖµÖÔ Ûúß Ûú´Öß 
†Öî¸ü ×®ÖÂ¯ÖÖ¤ü®Ö ÆêüŸÖã •Ö×™ü»Ö ÆüÖêŸÖê Æïü … 

 ˆ¯Ö¸üÖêŒŸÖ ¤üÖê Ûú£Ö®ÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë 
ÃÖê ÛúÖî®Ö ÃÖÖ ‹Ûú ÃÖÆüß Æîü ? 

 Û úÖê ›ü  : 
 (A) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ ®ÖÆüà Æîü … 

 (B) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

49. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : •ÖîÃÖê-•ÖîÃÖê ÜÖê»ÖÖë Ûúß ¯ÖÆü“ÖÖ®Ö 
´Ö»™üß×²Ö×»ÖµÖ®Ö ›üÖò»Ö¸ü, •Ö×™ü»Ö ¾Öî×À¾ÖÛú 
ÃÖ¢ÖÖ ºþ¯Ö ´Öë Æãü‡Ô Æîü, ÛúÖ®Öæ®Ö ®Öê ÜÖê»Ö 
ÃÖÓÝÖšü®ÖÖë Ûêú ÛúÖµÖÔ- Ûú»ÖÖ¯ÖÖë ´Öë †Öî¸ü 
†×¬ÖÛú ¯ÖÏ³ÖÖ¾Ö¿ÖÖ»Öß ³Öæ×´ÖÛúÖ ×®Ö³ÖÖ®ÖÖ 
¯ÖÏÖ¸ü´³Ö Ûú¸ü ×¤üµÖÖ Æîü … 

 Û úÖ¸ü ÞÖ (R) : •Ö²Ö ÜÖê»Ö ¯ÖÏ²Ö®¬ÖÛú ±îúÃÖ»Öê 
Ûú¸üŸÖê Æïü, †®ŸÖÙ¾Ö¸üÖê¬Ö ÜÖ›ÌüÖ ÆüÖê •ÖÖŸÖÖ Æîü, 
•ÖÖê »ÖÖêÝÖ ÜÖê»ÖÖê ´Öë ÛúÖµÖÔ̧ üŸÖ ‹¾ÖÓ ³ÖÖÝÖ »Öê 
¸üÆêü Æïü, ¾ÖÆü ×®Ö¯Ö™üÖ¸êü Ûêú ×»Ö‹ ÛúÖ®Öæ®Öß 
¯ÖÏ×ÛÎúµÖÖ ¯Ö¸ü †×¬ÖÛú ×®Ö³ÖÔ¸ü Æïü … 

 Û æ ú™ü  : 
 (A) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïüü, ¯Ö¸ü®ŸÖã (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ ®ÖÆüà Æîü … 

 (B) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ Æîü … 

 (C) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü …  

 (D) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 
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50. Given below are two statements, one 
labeled as Assertion (A) and the other 
as Reason (R). 

 Assertion (A) : Human resources are 
the wealth of an organisation 
which can help in achieving its 
goal. 

 Reason (R) : Personnel Management 
is one of the important 
responsibilities of a manager. 

 Which one of the following statements 
is true ? 

 Codes : 
 (A) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A). 
 (B) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 
 (C) (A) is true but (R) is false.  
 (D) (A) is false but (R) is true. 
 

51. Arrange the following in a sequential 
order based on their chronological 
organization : 

 I. Modern Olympic Games 
 II. Asian Games 
 III. Commonwealth Games 
 IV. Gladitorial Combat 
 Codes :  
 (A) IV I III II 
 (B) I II III IV 
 (C) IV III II I 
 (D) IV II III I 
 

52. Arrange the following management 
skills as per their relative significance 
from top, to lower level of management : 

 I. Conceptual skills 
 II. Human skills 
 III. Technical skills 
 IV. Assist the skills 
 Codes : 
 (A) II I III IV 
 (B) III II IV I 
 (C) I II III IV 
 (D) IV III I II 
 

53. Arrange the following in a sequential 
order based on the learning curve : 

 I. Decreasing gains in learning 
 II. Initial lag in learning 
 III. Increasing gains in learning 
 IV. Plateau in learning 
 Codes : 
 (A) I II III IV 
 (B) II III I IV 
 (C) I III IV II 
 (D) III IV II I 

54. In the quest of performance 
enhancement following types of 
competition are played : 

 I. Main competition 
 II. Build-up competition 
 III. Minor competition 
 IV. Major competition 
 Arrange the competitions in proper 

ascending order : 
 (A) I IV II III 
 (B) IV I II III 
 (C) II III IV I 
 (D) III I II IV 
 

55. The symptoms of physical fatigue are 
stated below. Arrange them in sequential 
order from the codes given below : 

 I. Local tiredness of active muscle 
 II. Pain in muscle 
 III. Sweating in hand and feet 
 IV. Stiffness in joints  
 Codes : 
 (A) I II III IV 
 (B) III II I IV 
 (C) I II IV III 
 (D) II III I IV 
 

56. Competition is a process that 
encompasses four distinct stages. Put 
them in a order of sequence : 

 I. Subjective competitive situation 
 II. Objective competitive situation 
 III. Response 
 IV. Consequence 
 Codes : 
 (A) II I III IV 
 (B) III IV II I 
 (C) IV II I III 
 (D) I III IV II 
 

57. Match List – I with List – II and 
select the correct answer from the 
codes given below : 

List – I List – II 
i. Nature 1. Environment 
ii. Nurture 2. Heredity 
iii. Principles of 

exercise 
3. Mental set up 

iv. Principles of 
readyness 

4. Use and disuse 

 Codes : 
  i ii iii iv 
 (A) 1 2 3 4 
 (B) 2 1 4 3 
 (C) 2 3 1 4 
 (D) 4 3 2 1 
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50. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê †×³ÖÛú£Ö®Ö 
(A) ŸÖ£ÖÖ ¤æüÃÖ ȩ̂ü ÛúÖê ÛúÖ ü̧ÞÖ (R) ÛúÆüÖ ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : ´ÖÖ®Ö¾Ö ÃÖÓÃÖÖ¬Ö®Ö ÃÖÓÝÖšü®Ö Ûúß 
¬Ö¸üÖêÆü¸ü ÆüÖêŸÖê Æïü •ÖÖê »ÖõµÖ ¯ÖÏÖ×¯ŸÖ ´Öë 
ÃÖÆüÖµÖÛú ÆüÖêŸÖê Æïü … 

 Û úÖ¸ü ÞÖ (R) : ¾ÖîµÖ×ŒŸÖÛú ¯ÖÏ²Ö®¬Ö®Ö, ¯ÖÏ²Ö®¬ÖÛú 
Ûúß ‹Ûú ´ÖÆü¢¾Ö¯ÖæÞÖÔ ×•Ö´´Öê¤üÖ¸üß Æîü … 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ ¾µÖÖÜµÖÖ†Öë ´Öë ÛúÖî®Ö ÃÖß ÃÖÆüß Æîü ? 
 Û úÖê ›ü  : 
 (A) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ ®ÖÆüà Æîü … 
 (B) ¤üÖê®ÖÖë (A) †Öî¸ü (R) ÃÖÆüß Æïü ŸÖ£ÖÖ (R), 

(A) Ûúß ÃÖÆüß ¾µÖÖÜµÖÖ Æîü … 
 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü …  
 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
 

51. †Ö¸Óü³Ö ×Ûú‹ •ÖÖ®Öê Ûêú ÛúÖ»ÖÖ®ÖãÛÎú´Ö ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ 
ÛúÖê ¾µÖ¾Ö×Ã£ÖŸÖ Ûúß×•Ö‹ : 

 I. †Ö¬Öã×®ÖÛú †Öê»ÖÓ×¯ÖÛú ÜÖê»Ö 
 II. ‹×¿ÖµÖÖ‡Ô ÜÖê»Ö 
 III. ¸üÖÂ™Òü´ÖÞ›ü»Ö ÜÖê»Ö 
 IV. Ý»Öî×›ü™üÖê×¸üµÖ»Ö ÛÓú²Öî™ü 
 ÛúÖê›ü : 
 (A) IV I III II 
 (B) I II III IV 
 (C) IV III II I 
 (D) IV II III I 
 

52. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¯ÖÏ²Ö®¬Ö®Ö ÛúÖî¿Ö»ÖÖë ÛúÖê ˆ®ÖÛêú 
ÃÖ´²Ö×®¬ÖŸÖ ´ÖÆü¢¾Ö Ûêú †®ÖãÃÖÖ¸ü ˆ““ÖŸÖ´Ö ÃÖê 
×®Ö´®ÖŸÖ´Ö ÃŸÖ¸ü Ûêú ÛÎú´Ö ´Öë ×»Ö×ÜÖ‹ : 

 I. ¬ÖÖ¸üÞÖÖŸ´ÖÛú ÛúÖî¿Ö»Ö 
 II. ´ÖÖ®Ö¾ÖßµÖ ÛúÖî¿Ö»Ö 
 III. ŸÖÛú®ÖßÛúß ÛúÖî¿Ö»Ö 
 IV. ×®Ö¿“ÖµÖÖŸ´ÖÛú ÛúÖî¿Ö»Ö 
 ÛúÖê›ü : 
 (A) II I III IV 
 (B) III II IV I 
 (C) I II III IV 
 (D) IV III I II 
 

53. †×¬ÖÝÖ´Ö ¾ÖÛÎú Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ×®Ö´®Ö×»Ö×ÜÖŸÖ ÛúÖê 
ÛÎú´ÖÖ®ÖãÃÖÖ¸ü ¾µÖ¾Ö×Ã£ÖŸÖ Ûúß×•Ö‹ : 

 I. †×¬ÖÝÖ´Ö ´Öë ÈüÖÃÖ´ÖÖ®Ö »ÖÖ³Ö 
 II. †×¬ÖÝÖ´Ö ´Öë †Ö¸Óü×³ÖÛú †ÓŸÖ¸üÖ»Ö 
 III. †×¬ÖÝÖ´Ö ´Öë ¾Ö¬ÖÔ´ÖÖ®Ö »ÖÖ³Ö 
 IV. †×¬ÖÝÖ´Ö ´Öë ¯»Öê™æü 
 ÛúÖê›ü : 
 (A) I II III IV 
 (B) II III I IV 
 (C) I III IV II 
 (D) III IV II I 

54. ¯ÖÏ¤ü¿ÖÔ®Ö ´Öë ²ÖœÌüÖê¢Ö¸üß Ûú¸ü®Öê Ûêú ×»Ö‹ ×®Ö´®Ö×»Ö×ÜÖŸÖ 
¯ÖÏÛúÖ¸ü Ûúß ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ‹Ñ ÜÖê»Öß •ÖÖŸÖß Æïü : 

 I. ¯ÖÏ¬ÖÖ®Ö ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ 
 II. õÖ´ÖŸÖÖ ×®Ö´ÖÖÔÞÖ ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ 
 III. ”ûÖê™üß ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ 
 IV. ²Ö›Ìüß ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ 
 ‡®Ö ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ†Öë ÛúÖê ˆ¯ÖµÖãŒŸÖ †Ö ü̧ÖêÆüß ÛÎú´Ö ´Öë 

¾µÖ¾Ö×Ã£ÖŸÖ Ûúß×•Ö‹ : 
 (A) I IV II III 
 (B) IV I II III 
 (C) II III IV I 
 (D) III I II IV 
 

55. ¿ÖÖ¸üß×¸üÛú £ÖÛúÖ®Ö Ûêú »ÖõÖÞÖ ®Öß“Öê ×¤ü‹ Æïü … ˆ®ÖÛúÖê 
®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü Ûêú †Ö¬ÖÖ¸ü ÃÖê ÛÎú´Ö¾ÖÖ¸ü 
×»Ö×ÜÖ‹ : 

 I. ×ÛÎúµÖÖ¿Öß»Ö ´ÖÖÓÃÖ¯Öê¿Öß Ûúß Ã£ÖÖ®ÖßµÖ £ÖÛúÖ¾Ö™ü 
 II. ´ÖÖÓÃÖ¯Öê¿Öß ´Öë ¤ü¤Ôü 
 III. ÆüÖ£Ö ¯Öî̧ ü ´Öë ¯ÖÃÖß®ÖÖ 
 IV. ÃÖÓ×¬Ö ´Öë •ÖÛú›Ìü®Ö 
 ÛúÖê›ü : 
 (A) I II III IV 
 (B) III II I IV 
 (C) I II IV III 
 (D) II III I IV 
 

56. ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ Ûúß ¯ÖÏ×ÛÎúµÖÖ ´Öë “ÖÖ ü̧ †¾ÖÃ£ÖÖ‹Ñ ÆüÖêŸÖß Æïü … 
‡®Ö †¾ÖÃ£ÖÖ†Öë ÛúÖê ÛÎú´Ö ´Öë ¾µÖ¾Ö×Ã£ÖŸÖ Ûúß×•Ö‹ … 

 I. ¾µÖ×ŒŸÖ×®ÖÂšü ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖŸ´ÖÛú ×Ã£Ö×ŸÖ 
 II. ¾ÖÃŸÖã×®ÖÂšü ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖŸ´ÖÛú ×Ã£Ö×ŸÖ 
 III. †®Öã×ÛÎúµÖÖ 
 IV. ®ÖŸÖß•ÖÖ 
 ÛúÖê›ü : 
 (A) II I III IV 
 (B) III IV II I 
 (C) IV II I III 
 (D) I III IV II 
 

57. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 
i. ¯ÖÏÛéú×ŸÖ 1. ¯ÖµÖÖÔ¾Ö¸üÞÖ 
ii. ¯ÖÖ»Ö®Ö-¯ÖÖêÂÖÞÖ 2. †Ö®Öã¾ÖÓ×¿ÖÛúŸÖÖ 
iii. ÛúÃÖ¸üŸÖ Ûêú 

×ÃÖ¨üÖÓŸÖ 
3. ´ÖÖ®Ö×ÃÖÛú ×¾Ö®µÖÖÃÖ 

iv. ŸÖŸ¯Ö¸üŸÖÖ Ûêú 
×ÃÖ¨üÖÓŸÖ 

4. ˆ¯ÖµÖÖêÝÖ ŸÖ£ÖÖ 
†®Öã¯ÖµÖÖêÝÖ 

 Û úÖê ›ü : 
  i ii iii iv 
 (A) 1 2 3 4 
 (B) 2 1 4 3 
 (C) 2 3 1 4 
 (D) 4 3 2 1 
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58. Match List – I with List – II and 

select the correct answer from the 

codes given below : 

List – I List – II 

i. The Vedic 

period 

1. 1000 A.D. – 

1757 A.D. 

ii. Early Hindu 

period 

2. 2500 B.C. – 

600 B.C. 

iii. Late Hindu 

period 

3. 600 B.C. – 320 

A.D. 

iv. Medieval 

period 

4. 320 A.D. – 

1000 A.D. 

 Codes : 

  i ii iii iv 

 (A) 2 3 4 1 

 (B) 3 4 2 1 

 (C) 4 3 2 1 

 (D) 1 2 3 4 

 

59. Match List – I with List – II and find 

out the correct option from the codes 

given below : 

List – I 

(Nature of 

Manipulation of 

force) 

List – II 

(Resultant 

activity) 

i. Continuous 

application of 

force 

1. Giving 

ii. Momentary 

application of 

force 

2. Throwing 

iii. Application of 

force for sometime 

and then release 

3. Pushing 

iv. Receiving force 4. Kicking 

 Codes : 

  i ii iii iv 

 (A) 3 4 2 1 

 (B) 4 2 1 3 

 (C) 2 1 3 4 

 (D) 1 3 4 2 

60. Which one of the following pairs is 

correctly matched ?  

(A) Leadership 

Scale for Sport 

– Wood, Birck 

& Veroff 

(B) Test of state – 

Trait Anxiety 

– Martens 

(C) Profile of 

Mood states 

– McNair, 

Lorr & 

Droppleman 

(D) Test of 

Attentional and 

Interpersonal 

style 

– Carron, 

Brawley, 

Widneyer 

 

61. Match List – I with List – II and 

select the correct answer from the 

codes given below : 

List – I List – II 

i. Pre-school and 

Kindergarten 

level 

1. Life time 

sports 

activities 

ii. Primary or 

elementary 

school level 

(Grade 1-5) 

2. Development 

and 

maintenance 

of physical 

fitness with 

wide variety 

of activities 

iii. Middle school 

level (grade 6-8) 

3. Gross motor 

pattern 

through free 

play 

iv. Secondary and 

senior 

secondary 

school level 

(grade 9-12) 

4. Development 

of perceptual 

motor 

qualities 

 Codes : 

  i ii iii iv 

 (A) 1 2 3 4 

 (B) 3 4 2 1 

 (C) 2 3 1 4 

 (D) 4 3 2 1 
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58. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

i. ¾Öî×¤üÛú ÛúÖ»Ö 1. ÃÖ®ÖË 1000 – 
ÃÖ®ÖË 1757 

ii. †Ö¸Óü×³ÖÛú ØÆü¤æü ÛúÖ»Ö 2. ‡Ô.¯Öæ. 2500 – 
‡Ô.¯Öæ. 600 

iii. ˆ¢Ö¸ü ØÆü¤æü ÛúÖ»Ö 3. ‡Ô.¯Öæ. 600 – 
ÃÖ®ÖË 320 

iv. ´Ö¬µÖÛúÖ»Ö 4. ÃÖ®ÖË 320 – 
ÃÖ®ÖË 1000 

 Û úÖê ›ü : 

  i ii iii iv 

 (A) 2 3 4 1 

 (B) 3 4 2 1 

 (C) 4 3 2 1 

 (D) 1 2 3 4 

 

59. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II ÃÖê ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ ŸÖ£ÖÖ 
®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹ : 

Ã Öæ “ Öß – I 

(²Ö»Ö ´ Öë  Æê ü ¸ü -±ê ú¸ü  Û úß 
¯ ÖÏ Ûé ú×Ÿ Ö) 

Ã Öæ “ Öß – II 

(¯ Ö×¸ü ÞÖÖ´ Öß 
Û úÖµÖÔ Û ú»ÖÖ¯Ö) 

i. »ÖÝÖÖŸÖÖ¸ü ²Ö»Ö 
»ÖÝÖÖ®ÖÖ 

1. ¤êü®ÖÖ 

ii. õÖ×ÞÖÛú ²Ö»Ö 
»ÖÝÖÖ®ÖÖ 

2. ±ëúÛú®ÖÖ 

iii. Ûãú”û ÃÖ´ÖµÖ ŸÖÛú 
²Ö»Ö »ÖÝÖÖ®ÖÖ 
†Öî¸ü ˆÃÖÛêú ²ÖÖ¤ü 
”ûÖê›Ìü ¤êü®ÖÖ 

3. ¬ÖÛêú»Ö®ÖÖ 

iv. ²Ö»Ö ¯ÖÏÖ¯ŸÖ Ûú¸ü®ÖÖ 4. ×ÛúÛú ´ÖÖ¸ü®ÖÖ 

 Û úÖê ›ü : 

  i ii iii iv 

 (A) 3 4 2 1 

 (B) 4 2 1 3 

 (C) 2 1 3 4 

 (D) 1 3 4 2 

60. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ µÖãÝ´Ö ÃÖã´Öê×»ÖŸÖ Æîü ? 

(A) »Öß›ü¸ü×¿Ö¯Ö ÃÛêú»Ö 
±úÖò¸ü Ã¯ÖÖê™Ôü 

– ¾Öæ›ü, ²ÖÛÔú ŸÖ£ÖÖ 
¾Öȩ̂ üÖê±ú 

(B) ™êüÃ™ü †Öò±ú Ã™êü™ü- 
™Òêü™ü ‹ë•ÖÖ‡™üß 

– ´ÖÖ™íüÃÖ 

(C) ¯ÖÏÖê±úÖ‡»Ö †Öò±ú 
´Öæ›ü Ã™êü™ËüÃÖ 

– ´ÖîÛú®ÖÖµÖ¸ü, »ÖÖȩ̂ ü 
ŸÖ£ÖÖ ›ÒüÖò¯Ö»Ö´Öî®Ö 

(D) ™êüÃ™ü †Öò±ú 
†™ëü¿Ö®Ö»Ö ‹êÞ›ü 
‡Ó™ü¸ü¯ÖÃÖÔ®Ö»Ö 
Ã™üÖ‡»Ö 

– Ûîú¸üÖê®Ö, ²ÖÎÖò¾Ö»Öß, 
×¾Ö›ü®ÖêµÖ¸ü 

 

61. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. ¯ÖÏß-ÃÛæú»Ö ŸÖ£ÖÖ 
ØÛú›ü¸üÝÖÖ™ìü®Ö ÃŸÖ¸ü 

1. †Ö•Öß¾Ö®Ö ÜÖê»Ö 
ÝÖ×ŸÖ×¾Ö×¬ÖµÖÖÑ 

II. ¯ÖÏÖ£Ö×´ÖÛú †£Ö¾ÖÖ 
†Ö¸Óü×³ÖÛú 
×¾ÖªÖ»ÖµÖ ÃŸÖ¸ü 
(ÝÖÏê›ü 1-5) 

2. ×¾Ö×¾Ö¬Ö ¯ÖÏÛúÖ¸ü Ûúß 
ÝÖ×ŸÖ×¾Ö×¬ÖµÖÖë Ûêú 
ÃÖÖ£Ö ¿ÖÖ¸üß×¸üÛú 
õÖ´ÖŸÖÖ ÛúÖ 
×¾ÖÛúÖÃÖ ŸÖ£ÖÖ 
¤êüÜÖ¸êüÜÖ 

III. ´Ö¬µÖ ×¾ÖªÖ»ÖµÖ 
ÃŸÖ¸ü (ÝÖÏê›ü 6-8) 

3. ´ÖãŒŸÖ ÛÎúß›ÌüÖ «üÖ¸üÖ 
Ã£Öæ»Ö ´ÖÖê™ü¸ü ¯Öî™ü®ÖÔ 

IV. ´ÖÖ¬µÖ×´ÖÛú ŸÖ£ÖÖ 
ˆ““ÖŸÖ¸ü 
´ÖÖ¬µÖ×´ÖÛú 
×¾ÖªÖ»ÖµÖ ÃŸÖ¸ü 
(ÝÖÏê›ü 9-12) 

4. ¯ÖÏŸµÖõÖ –ÖÖ®ÖÖŸ´ÖÛú 
´ÖÖê™ü¸ü ÝÖãÞÖÖë ÛúÖ 
×¾ÖÛúÖÃÖ 

 Û úÖê ›ü : 

  I II III IV 

 (A) 1 2 3 4 

 (B) 3 4 2 1 

 (C) 2 3 1 4 

 (D) 4 3 2 1 
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62. Match List – I with List – II and 
select the correct option from the 
codes given below : 

List – I 
(Vitamin 

Deficiency) 

List – II 
(Diseases) 

i. Vitamin-D  1. Nightblindness 
ii. Vitamin-A 2. Rickets 
iii. Vitamin-B2 3. Anaemia 
iv. Vitamin-B12 4. Scabies 

 Codes : 
  i ii iii iv 
 (A) 1 2 3 4 
 (B) 2 1 4 3 
 (C) 4 3 2 1 
 (D) 3 4 1 2 
 
63. Match List – I with List – II and find 

correct option using codes given below : 
List – I List – II 

i. Competition 
period 

1. Creation of 
strong base 

ii. Perioditation 2. Rest and 
Recovery 

iii. Transitional 
period 

3. High 
performance 
training stage 

iv. Preparatory 
period 

4. Top form and 
its maintenance 

 Codes : 
  i ii iii iv 
 (A) 1 2 3 4 
 (B) 2 3 4 1 
 (C) 3 4 2 1 
 (D) 4 3 2 1 
 
64. Which one of the following pairs is 

correctly matched ? 
(A) Hypothesis that 

predicts no 
significant 
difference 

– Research, 
hypothesis 

(B) Hypothesis that 
predicts existence 
of significant 
difference 

– Alternate 
hypothesis 

(C) Hypothesis that 
predicts the 
direction of 
difference 

– Null 
hypothesis 

(D) Hypothesis that 
does not predict 
the direction of 
difference 

– Directional 
hypothesis 

65. Match List – I with List – II selecting 

the correct answer from the code 

given below : 

List – I List – II 

i. Planning 1. Extensive 

Orientation 

ii. Organising 2. Goal 

Accomplishment 

iii. Staffing 3. Delegating 

Authority 

iv. Controlling 4. Gathering 

Information 

 Codes : 

  i ii iii iv 

 (A) 2 3 4 1 

 (B) 1 2 3 4 

 (C) 4 3 1 2 

 (D) 3 1 2 3 

 

66. Match List – I with List – II and find 

the correct option with the help of 

codes given below : 

List – I List – II 

i. Pre-

competition 

Meso-cycle 

1. Correction of 

errors 

ii. Basic meso-

cycle 

2. Used between 

multiple 

competitions 

iii. Perfection 

Meso-cycle 

3. Development of 

selected motor 

abilities 

iv. Intermediate 

meso-cycle 

4. Direct 

preparation for 

competition 

 Codes : 

  i ii iii iv 

 (A) 2 1 4 3 

 (B) 4 3 1 2 

 (C) 3 1 2 4 

 (D) 1 4 3 2 
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62. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I 

(×¾Ö™ü Ö×´ Ö®Ö Û úß Û ú´ Öß) 
Ã Öæ “ Öß – II 

(¸ü Öê ÝÖ) 
I. ×¾Ö™üÖ×´Ö®Ö D 1. ¸üŸÖÖï¬Öß 
II. ×¾Ö™üÖ×´Ö®Ö A 2. ÃÖãÜÖÖ¸üÖêÝÖ 
III. ×¾Ö™üÖ×´Ö®Ö B2 3. †®Öê×´ÖµÖÖ 

(¸üŒŸÖõÖßÞÖŸÖÖ) 
IV. ×¾Ö™üÖ×´Ö®Ö B12 4. ÜÖã•Ö»Öß 

 Û úÖê ›ü : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 2 1 4 3 
 (C) 4 3 2 1 
 (D) 3 4 1 2 
 

63. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÛúÖê›ü ÛúÖ ˆ¯ÖµÖÖêÝÖ Ûú¸ü ÃÖÆüß 
×¾ÖÛú»¯Ö “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 
I. ÛÓú¯Öß™üß¿Ö®Ö 

¯Öß×¸üµÖ›ü 
1. ÃÖ¿ÖŒŸÖ †Ö¬ÖÖ¸ü 

×®Ö´ÖÖÔÞÖ 
II. ¯Öß×¸üµÖÖê›üÖ‡•Öê¿Ö®Ö 2. †Ö¸üÖ´Ö ŸÖ£ÖÖ 

¯Öã®ÖÙÃ£Ö×ŸÖ ¯ÖÏÖ×¯ŸÖ 
III. ™ÒüÖÓ×•Ö¿Ö®Ö»Ö 

¯Öß×¸üµÖ›ü 
3. ˆ““Ö ¯ÖÏ¤ü¿ÖÔ®Ö 

¯ÖÏ×¿ÖõÖÞÖ †¾ÖÃ£ÖÖ 
IV. ×¯ÖÏ¯Öȩ̂ êü™ü¸üß 

¯Öß×¸üµÖ›ü 
4. ˆŸÛéúÂ™ü ¯ÖÏ¤ü¿ÖÔ®Ö 

ŸÖ£ÖÖ ‡ÃÖê ²Ö®ÖÖµÖê 
¸üÜÖ®ÖÖ 

 Û úÖê ›ü : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 2 3 4 1 
 (C) 3 4 2 1 
 (D) 4 3 2 1 
 

64. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖß •ÖÖê›Ìüß ÃÖÆüß Æîü ? 
(A) ¯Ö×¸üÛú»¯Ö®ÖÖ •ÖÖê 

ÃÖÖ£ÖÔÛú †®ŸÖ¸ü 
®ÖÖ ²ÖŸÖÖŸÖß ÆüÖê 

– ÃÖÓ¿ÖÖê¬Ö®Ö 
¯Ö×¸üÛú»¯Ö®ÖÖ 

(B) ¯Ö×¸üÛú»¯Ö®ÖÖ •ÖÖê 
ÃÖÖ£ÖÔÛú †®ŸÖ¸ü 
²ÖŸÖÖŸÖß ÆüÖê 

– ¾ÖîÛú×»¯ÖÛú 
¯Ö×¸üÛú»¯Ö®ÖÖ 

(C) ¯Ö×¸üÛú»¯Ö®ÖÖ •ÖÖê 
¤üÖê®ÖÖë Ûêú †ÓŸÖ¸ü 
Ûúß ×¤ü¿ÖÖ ²ÖŸÖÖŸÖß 
ÆüÖê 

– ¿Öæ®µÖ ¯Ö×¸üÛú»¯Ö®ÖÖ 

(D) ¯Ö×¸üÛú»¯Ö®ÖÖ •ÖÖê 
¤üÖê®ÖÖë Ûêú †ÓŸÖ¸ü 
Ûúß ×¤ü¿ÖÖ ®ÖÖ 
²ÖŸÖÖŸÖß ÆüÖê 

– ×¤ü¿ÖÖ¤ü¿ÖÔÛú 
¯Ö×¸üÛú»¯Ö®ÖÖ 

65. ÃÖæ“Öß-I ÛúÖ ×´Ö»ÖÖ®Ö ÃÖæ“Öß-II ÃÖê Ûúß×•Ö‹, ®Öß“Öê ×¤ü‹ 
Æãü‹ Ûæú™ü Ûêú ´ÖÖ¬µÖ´Ö ÃÖê ÃÖÆüß ˆ¢Ö¸ü ŸÖ»ÖÖ×¿Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. ×®ÖµÖÖê•Ö®Ö 1. ¾µÖÖ¯ÖÛú †Öê×¸ü‹®™êü¿Ö®Ö 

II. ÃÖÓÝÖšü®Ö 2. »ÖõµÖ ¯ÖÏÖ×¯ŸÖ 

III. “ÖµÖ®Ö 3. †×¬ÖÛúÖ¸ü ÆüÃŸÖÖÓŸÖ¸üÞÖ 

IV. ×®ÖµÖ®¡ÖÞÖ 4. ÃÖæ“Ö®ÖÖ ‹Ûú¡ÖßÛú¸üÞÖ 

 Û æ ú™ü : 

  I II III IV 

 (A) 2 3 4 1 

 (B) 1 2 3 4 

 (C) 4 3 1 2 

 (D) 3 1 2 3 

 

66. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü Ûúß ÃÖÆüÖµÖŸÖÖ ÃÖê ÃÖÆüß 
×¾ÖÛú»¯Ö “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ-¯Öæ¾ÖÔ 
´ÖîÃÖÖê “ÖÛÎú 

1. ¡Öã×™üµÖÖë ÛúÖê ¿Öã¨ü 
Ûú¸ü®ÖÖ 

II. †Ö¬ÖÖ¸ü³ÖæŸÖ ´ÖîÃÖÖê 
“ÖÛÎú 

2. †®ÖêÛú 
¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ†Öë Ûêú 
²Öß“Ö ˆ¯ÖµÖÖêÝÖ 
×ÛúµÖÖ •ÖÖŸÖÖ Æîü 

III. ÁÖêÂšüŸÖÖ ´ÖîÃÖÖê 
“ÖÛÎú 

3. “ÖµÖ×®ÖŸÖ ÝÖ×ŸÖÛú 
µÖÖêÝµÖŸÖÖ†Öë ÛúÖ 
×¾ÖÛúÖÃÖ 

IV. ´Ö¬µÖ¾ÖŸÖá ´ÖîÃÖÖê 
“ÖÛÎú 

4. ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ Ûêú 
×»Ö‹ ¯ÖÏŸµÖõÖ ŸÖîµÖÖ¸üß 

 Û úÖê ›ü : 

  I II III IV 

 (A) 2 1 4 3 

 (B) 4 3 1 2 

 (C) 3 1 2 4 

 (D) 1 4 3 2 
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67. Match List – I with List – II and 

select the correct option from the 

codes given below : 

List – I List – II 

i. Malaria 1. Parasites 

ii. Dengue 2. Pancreas 

iii. Measles 3. Bacteria 

iv. Diabetes 4. Virus 

 Codes : 

  i ii iii iv 

 (A) 1 3 4 2 

 (B) 3 4 2 1 

 (C) 2 1 4 3 

 (D) 4 2 3 1 

 

68. Match List – I with List – II and 

select the correct option using the 

codes given below 

List – I List – II 

i. Fiedler’s 

contingency 

theory 

1. Emotions 

ii. Behavioural 

theories 

2. Play 

iii. Reversal 

theories 

3. Leadership 

iv. Psychoanalytic 

theories 

4. Personality 

 Codes : 

  i ii iii iv 

 (A) 3 4 1 2 

 (B) 2 1 3 4 

 (C) 4 3 2 1 

 (D) 1 2 4 3 

69. Match List – I with List – II and 

select the correct option from the 

codes given below : 

List – I 

(Type of Activity) 

List – II 

(Example) 

i. Giving impetus to 

external object 

1. Hanging 

ii. Receiving 

impetus from 

external object 

2. Landing 

iii. Receiving 

impetus of one’s 

own body 

3. Kicking 

iv. Maintaining 

balance in 

suspension 

4. Catching 

 Codes : 

  i ii iii iv 

 (A) 1 3 4 2 

 (B) 2 1 3 4 

 (C) 4 2 1 3 

 (D) 3 4 2 1 

 

70. Match List – I with List – II and 

select the correct answer from the 

code given below : 

List – I List – II 

i. Glucose 1. Muscle of 

inspiration 

ii. Haemoglobin 2. Cardiac 

iii. Diaphragm 3. Blood sugar 

iv. Heart 4. Red Blood 

Corpuscle 

(R.B.C.) 

 Codes : 

  i ii iii iv 

 (A) 3 4 1 2 

 (B) 4 3 2 1 

 (C) 1 2 3 4 

 (D) 2 1 4 3 
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67. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. ´Ö»Öê×¸üµÖÖ 1. ¯Öî¸üÖÃÖÖ‡™üÃÖ (¯Ö¸ü•Öß¾Öß) 

II. ›ëüÝµÖæ 2. ¯Öî®ÛÎúßµÖÖÃÖ (†Ý®µÖÖ¿ÖµÖ) 

III. “Öê“ÖÛú 3. ²ÖîŒ™êü¸üßµÖÖ (•Öß¾ÖÖÞÖã) 

IV. ´Ö¬Öã´ÖêÆü 4. ¾ÖÖµÖ¸üÃÖ (×¾ÖÂÖÖÞÖã) 

 Û úÖê ›ü : 

  I II III IV 

 (A) 1 3 4 2 

 (B) 3 4 2 1 

 (C) 2 1 4 3 

 (D) 4 2 3 1 

 

68. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. ±úß›ü»Ö¸ü ÛúÖ 
†ÖÛú×Ã´ÖÛúŸÖÖ ×ÃÖ¨üÖÓŸÖ 

1. ÃÖÓ¾ÖêÝÖ 

II. ¾µÖ¾ÖÆüÖ¸ü¾ÖÖ¤üß ×ÃÖ¨üÖÓŸÖ 2. ÛÎúß›ÌüÖ 

III. ×¾Ö¯ÖµÖÔµÖ ×ÃÖ¨üÖÓŸÖ 3. ®ÖêŸÖéŸ¾Ö 

IV. ´Ö®ÖÖê×¾Ö¿»ÖêÂÖÞÖÖŸ´ÖÛú 
×ÃÖ¨üÖÓŸÖ 

4. ¾µÖ×ŒŸÖŸ¾Ö 

 Û úÖê ›ü : 

  I II III IV 

 (A) 3 4 1 2 

 (B) 2 1 3 4 

 (C) 4 3 2 1 

 (D) 1 2 4 3 

69. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I 

(×Û Î úµÖÖÛ ú»ÖÖ¯ Ö Û ê ú 
¯ ÖÏ Û úÖ¸ü ) 

Ã Öæ “ Öß – II 

(ˆ¤ü ÖÆü ¸ü ÞÖ) 

I. ²ÖÖÊ ¾ÖÃŸÖã ÛúÖê 
²Ö»Ö ¤êü®ÖÖ 

1. »Ö™üÛú®ÖÖ 

II. ²ÖÖÊ ¾ÖÃŸÖã ÃÖê 
²Ö»Ö »Öê®ÖÖ 

2. •Ö´Öß®Ö ¯Ö¸ü ˆŸÖ¸ü®ÖÖ 

III. Ã¾ÖµÖÓ †¯Ö®Öê 
¿Ö¸üß¸ü ÃÖê ²Ö»Ö 
»Öê®ÖÖ 

3. ×ÛúÛú Ûú¸ü®ÖÖ 

IV. Æü¾ÖÖ ´Öë »Ö™üÛúŸÖê 
Æãü‹ ÃÖÓŸÖã»Ö®Ö 
²Ö®ÖÖ‹ ¸üÜÖ®ÖÖ 

4. Ûîú“Ö Ûú¸ü®ÖÖ 

 Û úÖê ›ü : 

  I II III IV 

 (A) 1 3 4 2 

 (B) 2 1 3 4 

 (C) 4 2 1 3 

 (D) 3 4 2 1 

 

70. ÃÖæ“Öß-I ÛúÖê ÃÖæ“Öß-II Ûêú ÃÖÖ£Ö ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ 
ŸÖ£ÖÖ ®Öß“Öê ×¤ü‹ ÝÖ‹ ÛúÖê›ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü “Öã×®Ö‹ : 

Ã Öæ “ Öß – I Ã Öæ “ Öß – II 

I. Ý»ÖæÛúÖê•Ö 1. ¿¾ÖÃÖ®Ö ¯Öê¿Öß 

II. Æüß´ÖÖêÝ»ÖÖê²Öß®Ö 2. ÛúÖÙ›üµÖÛú 

III. ›üÖµÖÖ±ÏúÖ´Ö 3. ¸üŒŸÖ¿ÖÛÔú¸üÖ 

IV. Çü¤üµÖ 4. ¸êü›ü ²»Ö›ü 
ÛúÖ¯ÖÔ»ÃÖê•Ö 

(†Ö¸ü.²Öß.ÃÖß.) 

 Û úÖê ›ü : 

  I II III IV 

 (A) 3 4 1 2 

 (B) 4 3 2 1 

 (C) 1 2 3 4 

 (D) 2 1 4 3 
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Read the passage and answer the questions : 
 

The world of sports has certainly seen its 
share of scandals of late. Sports 
organisations were hit with drug-related 
scandals, doping controversies, sexual 
assault charges and racial insults. 
Whenever events like this occur, sports 
managers need to respond in an ethical 
manner to deal with the situations that are 
complex and demanding. 

Some ethical dilemma are about choosing 
right and wrong, two opposing choices. 
When the issue is about doing what is 
right, we are dealing with a moral issue. 
People tend to use the terms morals and 
ethics interchangeably; however morals are 
the fundamental baseline values dictating 
appropriate behaviour within the society. 
Ethics is the systematic study of the values 
guiding our decision making. The process 
of making a correct and fair decision is 
called ethical reasoning. Ethical reasoning 
depends on our values and in our 
expectations how people should behave 
and how we want our world to operate. 
Ethical decision making is not a random 
process in which the sports manager just 
reacts from his “gut” feeling. Ethical 
analysis involves a systematic process of 
reasoning. It is similar to regular decision-
making process. 

You need to know there are consequences 
for immoral behaviour. Some people will 
be motivated solely by self-interest. 
However if people understand that 
corruption comes with certain risks, they 
are less likely to engage in immoral acts. 
People need to understand they will loose 
their jobs, customers, or eligibility, if 
caught violating rules. By making the 
consequences of immoral acts clear, 
organisations help promote ethical actions. 

 

71. Values dictating appropriate 
behaviour within the society refer to 

 (A) Ethics (B) Morals 

 (C) Dilema (D) Scandal 

72. Complex and demanding situations 

that need to be dealt in ethical 

manner is  
 (A) Moral issue 

 (B) Ethical dilemma 

 (C) Doping controversy 

 (D) Ethical decision 
 

73. Choosing between right or wrong, 

two opposing choices refer to : 

 I. Ethical reasoning 
 II. Moral issue 

 III. Ethical decision 

 IV. Ethical dilemma 

 Find the correct combination : 
 (A) I & II (B) II & III 

 (C) I & IV (D) II & IV 
 

74. What will people loose for their 
immoral behaviour ? 

 I. Eligibility 

 II. Self-interest 

 III. Jobs 
 IV. Ethics 

 Find the correct combination : 

 (A) I & II (B) III & IV 

 (C) I & III (D) II & IV 
 

75. Given below are two statements, one 

labelled as Assertion (A) and the 

other Reason (R) : 
 Assertion (A) : Ethics is the 

systematic study of the values 

guiding our decision making. 

 Reason (R) : Ethics indicate 
fundamental baseline values 

dictating appropriate behaviour 

within the society. 

 In the context of the above two 
statements, which one of the 

following is correct ? 

 (A) Both (A) and (R) are true but 

(R) is not the correct 
explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is the correct answer of (A). 

 (C) (A) is false, but (R) is true. 
 (D) (A) is true, but (R) is false. 
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®Öß“Öê ×¤ü‹ ÝÖ‹ ÝÖªÖÓ¿Ö ÛúÖê ¯Ö×œÌü‹ ŸÖ£ÖÖ ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü 
¤üß×•Ö‹ : 
 ÜÖê»Ö •ÖÝÖŸÖË ´Öë ³Öß Ûãú”û ÃÖ´ÖµÖ ÃÖê Ø®Ö¤ü®ÖßµÖ ÛéúŸµÖ 
(ÃÛïú›ü»ÃÖ) ÃÖÖ´Ö®Öê †ÖµÖê Æïü … ´ÖÖ¤üÛú ¦ü¾µÖÖë ÃÖê •Öã›Ìêü 
ÃÛïú›ü»ÖÖë, ›üÖêØ¯ÖÝÖ Ûêú ×¾Ö¾ÖÖ¤üÖë, µÖÖî®Ö-†ÖÛÎúÖ×®ŸÖ Ûêú †Ö¸üÖê¯ÖÖë 
ŸÖ£ÖÖ •ÖÖ×ŸÖ¯Ö¸üÛú †¯Ö´ÖÖ®Ö ÃÖê ÜÖê»Ö ÃÖÓÝÖšü®ÖÖë ÛúÖê ¬ÖŒÛúÖ 
»ÖÝÖÖ £ÖÖ … ‹êÃÖß ‘Ö™ü®ÖÖ‹Ñ •Ö²Ö ‘Ö™üŸÖß Æïü ŸÖÖê ×Ã£Ö×ŸÖ •Ö×™ü»Ö 
†Öî¸ü ´ÖÖÓÝÖ¯ÖæÞÖÔ ÆüÖê •ÖÖŸÖß Æîü ×•ÖÃÖÃÖê ×®Ö¯Ö™ü®Öê Ûêú ×»Ö‹ ÜÖê»Ö 
¯ÖÏ²ÖÓ¬ÖÛúÖë «üÖ¸üÖ †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ (‹×£ÖÛú»Ö) ¸üß×ŸÖ ÃÖê 
†®Öã×ÛÎúµÖÖ Ûú¸ü®Öê Ûúß †Ö¾Ö¿µÖÛúŸÖÖ Æîü … 
 Ûãú”û †Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ ¤ãü×¾Ö¬ÖÖ†Öë ÛúÖ ÃÖÓ²ÖÓ¬Ö ÃÖÆüß 
†Öî̧ ü ÝÖ»ÖŸÖ, †£ÖÖÔŸÖË ¤üÖê ×¾Ö ü̧Öê¬Öß ×¾ÖÛú»¯ÖÖë Ûêú ²Öß“Ö “ÖµÖ®Ö 
Ûú¸®Öê ÃÖê Æîü … •Ö²Ö ´Öã§üÖ µÖÆü ÆüÖê ×Ûú •ÖÖê ÃÖÆüß ÆüÖê ˆÃÖê Ûú¸ü®ÖÖ 
“ÖÖ×Æü‹ ŸÖÖê Æǘ ÖÖ ü̧Ö ÃÖ ü̧ÖêÛúÖ ü̧ ®Öî×ŸÖÛú (´ÖÖȩ̂ ü»Ö) ´Öã§êü ÃÖê ÆüÖêŸÖÖ    
Æîü … ®Öî×ŸÖÛú-ŸÖ¢¾Ö (´ÖÖȩ̂ ü»ÃÖ) ŸÖ£ÖÖ †Ö“ÖÖ ü̧¿ÖÖÃ¡Ö (‹×£ÖŒÃÖ) 
‡®Ö ¤üÖê®ÖÖë ¿Ö²¤üÖë ÛúÖ »ÖÖêÝÖÖë «üÖ ü̧Ö ÃÖ´ÖÖ®ÖÖ£ÖÔÛú ¯ÖÏµÖÖêÝÖ ×ÛúµÖÖ 
•ÖÖŸÖÖ Æîü µÖÖ ‹Ûú ¤æüÃÖ ȩ̂ü Ûêú ×»Ö‹ ‡®Ö ¿Ö²¤üÖë ÛúÖ †¤ü»Ö-²Ö¤ü»Ö 
Ûú ü̧ ¯ÖÏµÖÖêÝÖ ×ÛúµÖÖ •ÖÖŸÖÖ Æîü … ŸÖ£ÖÖ×¯Ö ®Öî×ŸÖÛú ŸÖ¢¾Ö (´ÖÖȩ̂ ü»ÃÖ) 
´ÖÖî×»ÖÛú ŸÖ£ÖÖ ´Öæ»Ö³ÖæŸÖ ´Öæ»µÖ Æïü •ÖÖê ÃÖ´ÖÖ•Ö ´Öë ÃÖ´Öã×“ÖŸÖ 
¾µÖ¾ÖÆüÖ ü̧ Ûúß ´ÖÖÓÝÖ Ûú ü̧ŸÖê Æïü … †Ö“ÖÖ ü̧¿ÖÖÃ¡Ö (‹×£ÖŒÃÖ) Æǘ ÖÖ ȩ̂ü 
×®ÖÞÖÔµÖ®Ö Ûêú ÛúÖµÖÔ ÛúÖ ´ÖÖÝÖÔ¤ü¿ÖÔ®Ö Ûú¸ü®Öê ¾ÖÖ»Öê ´Öæ»µÖÖë ÛúÖ 
ÃÖãÃÖÓ²Ö ü̈ †¬µÖµÖ®Ö Æîü … ÃÖÆüß ŸÖ£ÖÖ ×®ÖÂ¯ÖõÖ ×®ÖÞÖÔµÖ »Öê®Öê Ûúß 
¯ÖÏ×ÛÎúµÖÖ ÛúÖê †Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ ŸÖÛÔúÞÖÖ ÛúÆüŸÖê Æïü … 
†Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ ŸÖÛÔúÞÖÖ Æü´ÖÖ ȩ̂ü ´Öæ»µÖÖë ŸÖ£ÖÖ Æǘ ÖÖ ü̧ß ˆ®Ö 
†¯ÖêõÖÖ†Öë ¯Ö ü̧ ×®Ö³ÖÔ̧ ü ÆüÖêŸÖß Æîü ×•Ö®ÖÛêú †ÓŸÖÝÖÔŸÖ µÖÆü †Ö¿ÖÖ 
Ûú ü̧ŸÖê Æïü ×Ûú »ÖÖêÝÖÖë ÛúÖê ×ÛúÃÖ ¯ÖÏÛúÖ ü̧ ÛúÖ ¾µÖ¾ÖÆüÖ ü̧ Ûú ü̧®ÖÖ 
“ÖÖ×Æü‹ ŸÖ£ÖÖ ×•ÖÃÖÛêú †ÓŸÖÝÖÔŸÖ Æǘ Ö “ÖÖÆüŸÖê Æïü ×Ûú Æü´ÖÖ ü̧ß µÖÆü 
¤ãü×®ÖµÖÖ ×ÛúÃÖ ¯ÖÏÛúÖ ü̧ ÃÖê ÃÖÓ“ÖÖ×»ÖŸÖ ÆüÖê … †Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ 
×®ÖÞÖÔµÖ®Ö ‹Ûú ´Ö®Ö´ÖÖ®Öß ¯ÖÏ×ÛÎúµÖÖ ®ÖÆüà Æîü ×•ÖÃÖ´Öë ÜÖê»Ö ¯ÖÏ²ÖÓ¬ÖÛú 
Ûêú¾Ö»Ö †¯Ö®Öß ‘ÝÖ™ü ±úßØ»ÖÝÖ’ Ûêú †®ÖãÃÖÖ ü̧ ¯ÖÏ×ŸÖ×ÛÎúµÖÖ Ûú ȩ̂ü … 
†Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ ×¾Ö¿»ÖêÂÖÞÖ ´Öë ŸÖÛÔúÞÖÖ Ûúß ÃÖãÃÖÓ²Ö ü̈ ¯ÖÏ×ÛÎúµÖÖ 
×®Ö×ÆüŸÖ Æîü … µÖÆü ×®ÖµÖ×´ÖŸÖ ×®ÖÞÖÔµÖ®Ö ¯ÖÏ×ÛÎúµÖÖ Ûêú ÃÖ´ÖÖ®Ö Æîü … 
†Ö¯ÖÛúÖê µÖÆü •ÖÖ®Ö »Öê®Öê Ûúß †Ö¾Ö¿µÖÛúŸÖÖ Æîü ×Ûú †®Öî×ŸÖÛú 
¾µÖ¾ÖÆüÖ ü̧ Ûêú Ûãú”û ®ÖŸÖß•Öê ³Öß ÆüÖêŸÖê Æïü … Ûãú”û »ÖÖêÝÖ Ûêú¾Ö»Ö 
Ã¾Ö-×ÆüŸÖ ´ÖÖ¡Ö ÃÖê †×³Ö¯ÖÏê× ü̧ŸÖ ×Ûú‹ •ÖÖ ÃÖÛúŸÖê Æïü … ŸÖ£ÖÖ×¯Ö, 
µÖ×¤ü »ÖÖêÝÖ µÖÆü ÃÖ´Ö—Ö»Öë ×Ûú ³ÖÏÂ™üÖ“ÖÖ ü̧ ´Öë Ûãú”û ÜÖŸÖ ȩ̂ü ³Öß Æïü 
ŸÖÖê †®Öî×ŸÖÛú ÛúÖµÖÖí ´Öë ˆ®ÖÛêú ×»Ö¯ŸÖ ÆüÖê®Öê Ûúß Ûú´Ö ÃÖ´³ÖÖ¾Ö®ÖÖ 
ÆüÖêÝÖß … »ÖÖêÝÖÖë ÛúÖê µÖÆü ÃÖ´Ö—Ö »Öê®Öê Ûúß †Ö¾Ö¿µÖÛúŸÖÖ Æîü ×Ûú 
µÖ×¤ü ¾Öê ×®ÖµÖ´ÖÖë ÛúÖ ˆ»»ÖÓ‘Ö®Ö Ûú ü̧ŸÖê Æãü‹ ¯ÖÛú›Ìêü •ÖÖŸÖê Æïü ŸÖÖê 
ˆ®ÖÛúß ®ÖÖîÛú ü̧ß, ˆ®ÖÛêú ÝÖÏÖÆüÛú ŸÖ£ÖÖ ˆ®ÖÛúß ¯ÖÖ¡ÖŸÖÖ – µÖê ÃÖ²Ö 
”ûß®Öê •ÖÖ ÃÖÛúŸÖê Æïü … †®Öî×ŸÖÛú ÛéúŸµÖÖë Ûêú ®ÖŸÖß•ÖÖë ÛúÖê Ã¯ÖÂ™ü 
Ûú ü̧ ÃÖÓÝÖšü®ÖÖë «üÖ ü̧Ö †Ö“ÖÖ ü̧¿ÖÖÃ¡ÖßµÖ ÛúÖµÖÖí ÛúÖê ²ÖœÌüÖ¾ÖÖ ¤êü®Öê ´Öë 
ÃÖÆüÖµÖŸÖÖ Ûúß •ÖÖ ÃÖÛúŸÖß Æîü … 
 

71. ÃÖ´ÖÖ•Ö ÃÖê ÃÖ´Öã×“ÖŸÖ ¾µÖ¾ÖÆüÖ ü̧ Ûúß ´ÖÖÓÝÖ Ûú ü̧®Öê ¾ÖÖ»Öê 
´Öæ»µÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×ÛúÃÖê ÃÖÓ¤üÙ³ÖŸÖ Ûú ü̧ŸÖê Æïü ? 

 (A) †Ö“ÖÖ¸ü-¿ÖÖÃ¡Ö (B) ®Öî×ŸÖÛú ŸÖ¢¾Ö 
 (C) ¤ãü×¾Ö¬ÖÖ (D) ÃÛïú›ü»Ö 

72. •Ö×™ü»Ö ŸÖ£ÖÖ ´ÖÖÓÝÖ¯ÖæÞÖÔ ×Ã£Ö×ŸÖ ×•ÖÃÖÃÖê ×®Ö¯Ö™ü®Öê Ûêú 
×»Ö‹ †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ¸üß×ŸÖ Ûúß †Ö¾Ö¿µÖÛúŸÖÖ Æîü : 

 (A) ®Öî×ŸÖÛú ´Öã§üÖ 
 (B) †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ¤ãü×¾Ö¬ÖÖ 
 (C) ›üÖêØ¯ÖÝÖ Ûêú ×¾Ö¾ÖÖ¤ü 
 (D) †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ×®ÖÞÖÔµÖ 
 

73. ÃÖÆüß ŸÖ£ÖÖ ÝÖ»ÖŸÖ ¤üÖê ×¾Ö¸üÖê¬Öß ×¾ÖÛú»¯ÖÖë ´Öë ÃÖê ‹Ûú 
ÛúÖ “ÖµÖ®Ö ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×ÛúÃÖê ÃÖÓ¤üÙ³ÖŸÖ 
Ûú¸üŸÖÖ Æîü ? 

 I. †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ŸÖÛÔúÞÖÖ 
 II. ®Öî×ŸÖÛú ´Öã§üÖ 
 III. †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ×®ÖÞÖÔµÖ 
 IV. †Ö“ÖÖ¸ü¿ÖÖÃ¡ÖßµÖ ¤ãü×¾Ö¬ÖÖ 
 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö “Öã×®Ö‹ :  
 (A) I ŸÖ£ÖÖ II (B) II ŸÖ£ÖÖ III 
 (C) I ŸÖ£ÖÖ IV (D) II ŸÖ£ÖÖ IV 

 

74. †¯Ö®Öê †®Öî×ŸÖÛú ¾µÖ¾ÖÆüÖ¸ü Ûêú ×»Ö‹ »ÖÖêÝÖ 
×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ŒµÖÖ-ŒµÖÖ ÜÖÖê ¤ëüÝÖê ? 

 I. ¯ÖÖ¡ÖŸÖÖ II. Ã¾Ö-×ÆüŸÖ 
 III. ®ÖÖîÛú×¸üµÖÖÑ IV. †Ö“ÖÖ¸¿ÖÖÃ¡Ö 
 ÃÖÆüß ÃÖÓµÖÖê•Ö®Ö “Öã×®Ö‹ : 
 (A) I ŸÖ£ÖÖ II (B) III ŸÖ£ÖÖ IV 

 (C) I ŸÖ£ÖÖ III (D) II ŸÖ£ÖÖ IV 

 

75. ®Öß“Öê ¤üÖê ¾ÖŒŸÖ¾µÖ ×¤ü‹ ÝÖ‹ Æïü … ‹Ûú ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ¤æüÃÖ¸êü ÛúÖê ÛúÖ¸üÞÖ (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü … 

 †×³ÖÛ ú£ Ö® Ö (A) : †Ö“ÖÖ¸ü¿ÖÖÃ¡Ö Æü´ÖÖ¸êü ×®ÖÞÖÔµÖ®Ö 
Ûêú ÛúÖµÖÔ ÛúÖ ´ÖÖÝÖÔ¤ü¿ÖÔ®Ö Ûú¸ü®Öê ¾ÖÖ»Öê ´Öæ»µÖÖë 
ÛúÖ ÃÖãÃÖÓ²Ö¨ü †¬µÖµÖ®Ö Æîü … 

 Û úÖ¸ü ÞÖ (R) : †Ö“ÖÖ¸ü¿ÖÖÃ¡Ö ˆ®Ö ´ÖÖî×»ÖÛú 
†Ö¬ÖÖ¸ü³ÖæŸÖ ´Öæ»µÖÖë ÛúÖê ‡Ó×ÝÖŸÖ Ûú¸üŸÖÖ Æîü •ÖÖê 
ÃÖ´ÖÖ•Ö ´Öë Æü´ÖÖ¸üß ×®ÖÞÖÔµÖ®Ö ¯ÖÏ×ÛÎúµÖÖ ÛúÖ 
´ÖÖÝÖÔ¤ü¿ÖÔ®Ö Ûú¸üŸÖê Æïü … 

 ˆ¯ÖµÖãÔŒŸÖ ¤üÖê ¾ÖŒŸÖ¾µÖÖë Ûêú ÃÖÓ¤ü³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë 
ÃÖê ÛúÖî®Ö ÃÖÖ šüßÛú Æîü ? 

 (A) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 
 (B) (A) ŸÖ£ÖÖ (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (R), 

(A) ÛúÖ ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 
 (C) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü …  
 (D) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 
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Space For Rough Work


